

## THE PUBLIC SCHOOLS IN 1963

By E. M. WELLINGS

We should neither be surprised nor dismayed that 1963 was not a vintage year for Public Schools cricket. Booms do not last for ever. Four years, I am told, is a good period for a boom on the Stock Exchange. The slump that follows is habitually of briefer duration. We may confidently hope that a similar cycle will govern Public Schools cricket. Recent years were particularly good, and perhaps the falling-off noticed in 1963 was serious only by comparison with their lofty standard. At least, if the batting and bowling were less notable, the fielding was excellent. Every failing in the play of the young is readily excused if the fielding standard is high. Looking back to the lean years following the war, I recall much slovenly fielding. There was none of that at Lord's this year when the representative players were paraded.

The match between the Southern Schools and The Rest was still in its infancy, The Rest total merely in the sixties, and already R. M. C. Gilliat of Charterhouse, B. H. White of King's, Taunton, and T. A. Peirce of Oratory had made splendid catches. Gilliat's was an amazing left handed catch as he pelted from mid-off to extra cover to remove J. N. Sands of Edinburgh Academy. Peirce later was himself victim of splendid fielding, when D. Bailey (Malvern) ran him out from mid-off. In the individual School sides also the fielding standard was high. Most reports from the cricket masters, though brief, contained references to good work in the field. A headline from The Times read "Magnificent Fielding an Aid to Uppingham Success".

The batting standard was lower than during the past few years. Much of the bowling was decidedly ordinary. But none who appreciate the value and importance of good fielding will dismiss the season as a failure. Perhaps the batting standard would not so clearly have been seen to have dropped, if some of the more notable players had played as anticipated at Lord's. Gilliat, who had been an accomplished batsman in the representative games a year earlier, made only six runs in three innings. Yet, he had batted well enough for Charterhouse, scoring 560 runs for an average of 40 and leading the outstanding side of the year.

Charterhouse won eight and lost only two matches. That was a superb record for a School with such a powerful fixture list. Only one of their illustrious opponents scored as many as 200 against them, and against School opposition they were murderous. Eton were bowled out for 109, Winchester for 84 and Bradfield for 67. Harrow might have been dismissed even more cheaply, for they were saved by time at 48 for 7. The chief executioner was A. H. Barker, the slow left-hander, who had already in 1962 won a Public Schools cap. Nagging accuracy and flight were his main weapons. He was still too open chested to be a vicious spinner, but if he could overcome that handicap he could become an uncommonly good slow left-hander. Wilfred Rhodes might not have approved altogether of his action, but he would have welcomed his field setting. In these days of split fields it was grand to watch a a left arm spinner attacking the off stump accurately and bowling strictly to seven fielders on that side of the wicket.

Barker took 55 wickets for Charterhouse at 12.09 each, a splendid performance not to be belittled in any measure by the generally damp pitches of a miserably wet summer, which furnished an obvious reason for the slow development of players and teams generally. Another Carthusian who contributed greatly to their splendid season was R. M. Illingworth by his all-round play. He scored 549 runs with an average of 54.9, and his fast bowling, despite slow pitches, landed him in top position among the bowlers also. His 14 wickets cost only 11.78 runs each. Charterhouse successfully assailed their wretched victims with both fast and slow bowling.

Gilliat might have been expected to reveal himself as the number one batsman of the year at Lord's. Failing him I would not like to venture into the difficulties of picking that player. Certainly the most exhilarating performance was that of N. C. Pretzlik, an Etonian who was chosen mainly for his pace bowling. Though he bowled from a promisingly good action, it was with the bat that he shone, and brightly, in the big matches. His average for Eton had been merely 21.58, and he batted number 8 for the Southern Schools. The total was merely 63 when he arrived, and the 134 of The Rest was looking unexpectedly formidable. Pretzlik, who bowled right and batted left-handed, did what few others had done that day; he recognised a half-volley and knew what to do with it. His hitting, not slogging by any means, was splendid as he thumped his uninhibited way to 52 out of 70, hitting a couple of 6's on the way. Altogether he hit 64 out of 86 and put genuine excitement into the game and into the spectators. His partners were G. R. J. Roope, the young Bradfield all-rounder, and Barker, who made 41 and looked much better than a number 9.

It was fitting that Barker should play a considerable part in putting The Rest's total in something approaching its true perspective, for he was the main bowling cause of it by taking 7 for 43. As a batsman his defence looked sound, and he did not lack strokes. He was particularly strong on the leg side, where he hit two 6's, but he could also drive straight. He and Pretzlik carried on by batting well for the chosen Schools side against Combined Services. Pretzlik trounced the adult bowling as severely as the schoolboy attack of The Rest. Again he had to rescue his side, who were 123 for 5, and he did so in partnership with R. J. Pelham (Harrow) in the same robust manner. He spent only ninety-five minutes scoring 90 not out, and he clouted seventeen 4's. Not many innings as good have been played in these matches. Barker did not bat in that innings, but his 24 in the second was the second highest score, and without it the Schools, who had tumbled to 103 for 7, would surely not have held the Services to a draw. Thus he added a second important innings to the 15 wickets he took in the four days. Barker and Pretzlik were the outstanding school performers of the representative matches.

Pelham, too, was successful, more so than was apparently expected by some Harrovians, who were perhaps put off by his crouching style. Here was a tall fellow who bent himself almost double over his bat. But there was much merit in his stolid and seemingly imperturbable play. His bat was very straight, his head was well over the line of the ball, and he drove particularly well to the on. He played two sound innings to win his Public Schools place and then was the bulwark that made Pretzlik's act of violent rescue possible against the Services. His 95, ending with a stand of 85 in partnership with Pretzlik, held a faltering Schools innings together.

It is rare for a boy from a Scottish School to win a place in the final XI. In 1963, J. N. Sands of Edinburgh Academy, for whom he made 835 runs and averaged 64.23, gained that distinction deservedly. He was sound and patient and possessed one of the straightest back lifts I have ever seen. His bat just about came up over the middle and leg stumps, as the text books advise, though that advice has rarely been followed, even by Hobbs and Bradman. From a straight pick-up Sands certainly prospered at Lord's with three successful innings out of four.

One of the batsmen I fancied particularly, N. J. Chapman of Felsted, was not chosen for the Schools XI, but I retained my liking for his cricket. He was a powerfully built player who, like Pretzlik, batted left and bowled right-handed. His batting looked as cultured as that of anyone on The Rest side in the first innings when he and Sands were the only players to reach 30. J. D. Smith, the other representative of a successful Felsted team and also an all-rounder who bowled left-handed at medium pace, had an unhappy batting match. Perhaps he was overcome by the occasion, for his batting was suspicious and pawky, as though he did not expect to receive any ball that he could punish. For their School side, whose record was nine wins against three defeats, they performed splendidly.

They were responsible for nearly 1,300 runs and 77 wickets at modest cost.

D. Bailey did comparatively little with the bat in the two matches, but his method and intentions were admirable. He was a strong front foot player, his footwork good, and he was more than ready to advance down the pitch to challenge a slow bowler. However, he was in the final XI, and perhaps his beautiful ground fielding was a deciding factor in his choice. D. A. Ashworth, who made 653 including two centuries and averaged 54.41 for Uppingham and was well regarded in the Middlesex second XI, was to be somewhat disappointing. He played the hook stroke particularly well, but in playing other strokes, when he should have been swinging the bat straight, he had a dangerous bias towards the leg side. He was not alone in this, and here we see yet another bad habit seeping down from the higher realms of English cricket to infect the young. Playing across the line of the ball, fatal so often against the West Indies bowling, was surely the worst fault of our first-class batting in 1963. It was noteworthy that most runs were made during the four days at Lord's by three boys whose virtues were traditional or, as some would have it now, old fashioned. Pelham and Sands kept their heads down and played straight. Pretzlik pushed his front leg towards the pitch of the ball and swung his bat truly through the half-volleys. Many more such deliveries are bowled than most batsmen will admit.

G. R. J. Roope, of Bradfield, promised more with his good looking off side strokes than he actually achieved, but he was obviously a well groomed cricketer. Apart from Chapman, P. A. Baker (Cheltenham) appeared the most polished batsman who did not win through to the second game. His front foot play was admirable, and his school record in an unsuccessful side suggested that he was worth a position higher than seventh and eighth in the two innings of a Rest team of moderate strength. He averaged 100 with an aggregate of 700. T. B. Russell of Brentwood was a smooth left handed opener, possessing attractive strokes which were played on this occasion too gently to be effective. He, like Sands whom he partnered, needed to pay more attention to running between wickets. A. P. de Freitas (Stonyhurst) was a curious mixture at Lord's, clumsily awkward in defence and yet revealing one or two pleasing scoring strokes. Peirce had not revealed his quality when he was brilliantly run out, and D. F. Toft (Tonbridge) only briefly indicated his sound batting method. For once the Channel Islands were represented, by P. V. Sarre of Guernsey. If there were weaknesses in his play here and there, he certainly recognised a half-volley and swung his considerable weight against it.

Sarre was also a medium-paced bowler with a goodish action,

one of numerous all-rounders on show. One of the most interesting was White. On the first day I made a note about him which read "diminutive off-spinner, slow, high and erratic". A day later, when he had conquered his tendency to be erratic, he bowled four overs for two runs and four wickets and brought the second innings of The Rest to an abrupt end by doing the hat-trick. White then shared an unfinished opening partnership of 88 with Pelham and completed the defeat of The Rest. His batting was neat and studious, and at times there was surprising force in his front foot strokes. As yet he did not appear to hook or cut to any extent, and for a small man those strokes are essential to keep his score moving at a fair rate against bowlers who know their job. If he intends to rely on strokes played off the front foot, he must add several inches to his height.

Pretzlik, Barker, Chapman, Smith, Bailey, Peirce, Sarre, Roope, J. L. Hutton (Repton) and, though he batted number 11 for the South, P. R. Goodwin (Lancing) were other all-rounders. Bailey had more success with his off breaks—5 for 50 for the Rest—than his batting, but, Barker apart, the spin bowling generally was relatively as weak as it has become in first-class cricket under the much-to-be-deplored modern conditions. Pitches excessively grassed have put the emphasis on seam bowling and are, in my view, at the root of most ills from which the game is suffering.

There were ample seamers among the boy bowlers, though they also were as a whole of modest calibre. The best of them was Goodwin, whose 45 wickets for Lancing had cost only 11 runs each. To that he added a batting average of 32, but in his solitary innings at Lord's his only partner succumbed before he could make his mark. His bowling was curious. According to the book his action was entirely wrong. His chest was fully exposed to the batsman at the moment of delivery, and as he skipped to the line he bowled almost off the wrong foot. Yet wrong foot bowlers, particularly on first encounter, have something peculiarly disturbing to batsmen. There is an element of surprise, but beyond that such bowlers are apt to bring the ball off the pitch more quickly than the batsman expects. They also tend to make it nip back from the off. In the four days Goodwin by such effective methods took 11 wickets, a total exceeded only by Barker.

Roope's action was good, but after a good start he became erratic. He left Lord's having given an impression more of promise for the future than of present achievement, though during the term he made 582 runs and took 33 wickets for Bradfield. The only bowler with no pretensions to being an all-rounder was a second representative of Brentwood, I. R. Acfield. For his effects he relied solely on his steady medium paced inswingers, for honesty compels the ad-

mission that he was the one boy on view whose fielding looked in need of grooming. Sooner or later it was to be expected that he would be followed to Lord's by a younger brother, D. L. Acfield who bowls off breaks and is reputed to bat and field more effectively than I. R. The two brothers and the two Russells helped Brentwood to a most successful season, during which 12 wins were set against a single defeat. The Acfields shared 104 wickets cheaply, of which the elder had 58 at 8.28 each. The Russells were unrelated.

Many school sides in 1963 found the going rough and difficult. One cricket master expressed a wish to "draw a veil over the season". Yet Charterhouse, Brentwood and Felsted were not alone in finding success in the chill damp of the 1963 summer. Eton, whose bowling averages were headed by the latest googly version of the Robins family, won six times and lost only twice. They could thus regard the Charterhouse tragedy as one of those things that happen in the best organised families. Unlike his father and brother G. R. V. Robins bowled left-handed, but like them he used unorthodox spin, chinamen and googlies, and his bag was 25 wickets, average 14. Hurstpierpoint claimed their best school side for years, winning seven and losing three games, and Blundell's were unbeaten in 14 matches. They thrived on the all-round cricket of P. R. Price and R. S. Davis, who together made more than 1,300 runs and took 48 wickets. The King's School, Canterbury, also went through the term unbeaten. Bolton School, for whom D. W. Brett took 65 wickets, won 10 times and lost on only two occasions.

Even more impressive were Millfield, who did not lose at all and won 13 of their 18 games. R. K. Paull scored 1,009 runs in ten completed and eight unfinished innings. Yet another successful team were Tonbridge, who have long since recovered from the slump that followed the departure of Colin Cowdrey. They lost only once, and for the fourth year running they were unbeaten by any school side. Their only conquerors were the South African touring party. D. R. Aers and Toft had batting averages close to 50, and Aers with left arm spin further took 36 wickets. Their cricket was superior by far to the work of the mathematician who assembled their figures. Most of the Tonbridge averages submitted to Wisden were wrong, patently wrong to the merest glance on occasions, as when 22 wickets for 237 runs emerged as an average of 15.3. Alas, the maths of many schools in this context continue faulty, except in the Grammar Schools, who seldom fail to do their long division sums accurately.

In Scotland, Strathallan stood out on their own with what they consider the best side in the School's history. They played ten interschool matches and won nine of them. Only Loretto managed to hold them to a draw. It took a county side, Perthshire, to inflict on

Public School Cricket in 1963

them their only defeat. Quite obviously they played some stirring cricket, for twice A. J. Harvey-Walker hit a century before lunch. His contribution was considerable, 605 runs average 55 and 32 wickets average 9.18, and A. J. Fleming's 62 wickets constituted a School record.

Along with good fielding in the schools went good wicket-keeping. Of the two boys at Lord's, A. W. Dyer of Mill Hill established himself as the better against I. E. Ferris of Rydal, who had already enjoyed experience in Minor County cricket. Ferris began well but became ragged, as though suddenly afflicted by staleness. Many thought D. W. W. Norris of Harrow better than either, but he was perhaps set aside for another year, being younger than Dyer, who was also commended by his batting. Dyer's 364 runs represented more than one-third of Mill Hill's aggregate. On figures the most impressive stumper was C. S. J. Coley, the Cheltenham captain, who helped to dismiss 28 batsmen in 10 games.

There were other notable features of a school season which was not altogether beaten by the weather. A match between St. Dunstan's and Surrey Colts produced 522 runs in a single day's play and a win for the school. A remarkable contrast occurred in the match between Royal Grammar School, Newcastle, and Sir William Turner's School, Coatham. On a soft, dead pitch Newcastle made 131 in two hours, thirty-five minutes and allowed Coatham's batsmen two hours, twenty-five minutes. In that long time they amassed only 14 runs and lost eight wickets! Two bowlers had remarkable figures—H. M. Dyson 5 for 1 in 18 overs, A. J. Coulson 2 for 1 in 15 overs. Sir William's pupils successfully concealed their spirit of enterprise.

Three more individual performances by players not selected for the matches at Lord's deserve attention. C. P. Marks hit four centuries and averaged 74.9 in 10 completed innings for Worksop, who gave Philip Sharpe to the representative Schools team and later to Yorkshire and England. Pocklington, who have also sent good players to Lord's recently, had a boy aged 15, C. Johnson, at the top of both their batting and bowling averages. Johnson was a bowler of leg breaks and googlies. For Radley, R. G. M. Finn scored 747 runs and also headed the bowling figures with his 26 wickets.

Mention must also be made of the enterprise shown by Millfield and Nottingham High School in sending their teams to tour against schools outside their area. One way and another there was quite a lot of good to be said about 1963. The weather may have been discouraging, the standard of play below that of recent years, and the maths horrible, but a school term which produces 522 runs in a day's play does not deserve to have a veil drawn entirely over it.

## THE SCHOOLS

\* Signifies not out. † Indicates captain.

#### ABINGDON SCHOOL

Played 13, Won 4, Drawn 3, Lost 6, Abandoned 3

Batting									
	Innings	N	lot out	ts	Runs	Hig	hest in	ns.	Average
D. A. M. Bent	. 14		1		463		100*		35.61
P. N. Shellard			0		460		102		32.85
A. T. Barrett	. 13		2		255		40		23.18
M. S. Ford			1		212		45		17.66
C. C. Ford			1		147		52*		12.25
D. S. Partridge			3		119		30*		11.90
Bowling									
Domains	Overs		Maid	ens	Runs	V	Vickets		Average
D. S. Partridge		1.1	6		209		14		14.92
G. F. Keeys			45		621		37		16.78
M. S. Ford	. 123.1		27		390		22		17.72
A. T. Barrett			36		319		15		21.26

#### ALDENHAM SCHOOL

Aldenham's season was distinguished by fine victories over their old rivals Felsted and Highgate. They beat the former by hitting 67 in the last 34 minutes. Against Beaumont 204 for three was scored in two hours.

Played 11, Won 2, Lost 3, Drawn 6, Abandoned 1

Batting									The state of the
	Innings	N	lot ou	ts	Runs	Hig	hest in	ns.	Average
P. L. Leaver	. 12		1		364		77		33.09
A. C. Irwin			1		290		101*		29.00
M. G. Nutting			4		168		47		28.00
D. N. Barnes	10		1	700	162		37		18.00
†P. K. Smith	10		2		137		50*		17.12
M. R. King	9		2	ak.	111		30		15.85
C. R. Pianca	11		1		133		59		13.30
D. M. Forrest	10		1		114		31		12.66
Bowling									
The state of the s	Overs		Maio	lens	Runs	V	Vickets		Average
P. K. Smith	222.1		66		526		27		19.48
M. G. Nutting	108		21		331		11		30.09
C. R. Pianca	127.1		29		404		11		36.72

#### ALLHALLOWS SCHOOL

Played 13. Won 5, Lost 5, Drawn 3

*	mych 13,	,,,	,,,,,	2000	, Diam.				
Batting	Innings	1	lot ou	ts	Runs	Hig	hest in	ns.	Average
P. H. Stanley			2		386		107		38.60
R. F. Sherwood	. 13		1		279		40		23.25
A. D. Carter	. 13		1		190		83*		15.83
M. A. L. Brown	. 12		2		126		32*		12.60
P. F. V. White	. 13		2		136		47*		12.36
Bowling									
	Overs		Maic	lens	Runs	V	Vickets		Average
R. A. Fishburn	. 196.4		58		409		40		10.22
M. A. L. Brown	. 178.2		46		495		26		19.03
A. R. V. R. Cousins	. 69.5		11		213		11		19.36

#### AMPLEFORTH COLLEGE

Played 9, Won 1, Lost 4, Drawn 4, Abandoned 1

Batting		obligation (Line)	ion mail		
†M. P. Gretton N. F. Butcher R. G. S. Freeland R. C. B. Rooney M. G. C. Moorhouse T. P. Connery	Innings 14 13 13 6 12 12	Not outs 1 2 0 1 1 3	Runs 503 253 297 101 162 104	Highest inns 140 49 63 36 32 47*	Average 38.69 23.00 22.84 20.20 14.72 11.55
Bowling					
D. R. H. Tufnell M. D. Gray D. J. A. Craig	Overs 69 86 147	Maidens 6	Runs 277 261 387	Wickets 16 15 19	Average 17.31 17.40 20.36
	ARDI	NGLY COLL	EGE		
	Played	17, Lost 5, Dr	awn 2		
Batting					
P. C. D. Tidy	Innings 7 6	Not outs 0	Runs 176 142	Highest inns 60 52	Average 25.14 23.66
Bowling					
†M. G. Magness B. G. Earl	Overs 67 79.4 64	Maidens 16	Runs 198 298 226	Wickets 10	Average 19.80 21.28 22.60

#### ASHVILLE COLLEGE

Played 13, Won 2, Lost 7, Drawn 4

Batting									
	Innings	N	ot ou	ts	Runs	High	hest in	ns.	Average
†D. Shephard	14		1		226		42		17.38
R. J. Marshall	13		0		210		47		16.15
D. R. Langslow	14		2		168		46		14.00
I. F. Bielby	12		2		100		37*		10.00
A. A. Kay	13		2		105		36		9.54
Bowling									
	Overs	M	aiden	S	Runs	V	Vickets		Average
R. J. Marshall	190.4		52		463		37		12.51
D. R. Langslow	109.4		25		262		18		14.55
H. A. Petty	83		8		333		19		17.52

#### BANCROFT'S SCHOOL

Played 13, Won 1, Lost 9, Drawn 3, Abandoned 1

erage
8.76
5.63
5.25
4.28
3.83
1.63
9.38
1

Bowling	Overs	N	/aide	ns	Runs	V	Vickets	3	Average
J. L. Mapley	57.1		4		211		18		11.72
A. J. Sanford	151.2				499		29		17.20
†P. R. Miller			45		448		24		18.66
R. J. Furlong	99		27		286		13		22.00

#### BARNARD CASTLE SCHOOL

Played 10, Won 2, Lost 6, Drawn 2

Batting									
	Innings	N	ot ou	ts	Runs	Hig	hest in	ins.	Average
J. K. Wakefield	10		2		236		63*		29.50
†J. R. Anderson	10		0		211		78		21.10
A. Stannard			1		105		20		15.00
N. J. Willings			1		101		25		14.42
M. Kirkland			1		114		50		12.66
C. J. Carling	10		0		108		20		10.80
Bowling									
	Overs	M	aiden	S	Runs	V	Vickets	5	Average
M. Kirkland	124.1		25		376		25		15.04
J. K. Wakefield	52.4		8		229		14		16.35
A. Waterworth	78		14		249		14		17.78
N. J. Willings	108		20		306		12		25.50

#### BEAUMONT COLLEGE

An inconsistent young side was disappointing after starting the season promisingly and lost six out of seven school matches. In an era of seam bowling the Beaumont averages were headed by a leg-spinner and an off-break bowler.

Played 13, Won 3, Lost 8, Drawn 2, Abandoned 1

†S. T. Crompton K. Riordan J. Halliday J. Muir I. Scott G. Green	Innings 14 13 14 14 13 14	No	ot ou 1 1 1 1 1 1	ts  	Runs 490 342 272 204 134 130	High	hest in 86 95 45* 48* 28 35	ns.	Average 37.69 28.50 20.92 15.69 11.16 10.00
Bowling  J. Halliday  G. Green  D. K. Thompson	Overs 122 72 166	M 	aiden 15 3 37	 	Runs 476 391 665	 	Vickets 25 20 23		Average 19.04 19.55 24.56

#### BEDFORD MODERN SCHOOL

Played 8, Won 3, Lost 3, Drawn 2, Abandoned 2

Batting									
	Innings	No	t out	S	Runs	Hig	hest in	ins.	Average
L. E. Weston			0		249		59		22.63
D. V. G. Sharp	11		3		165		43		20.62
S. R. Anthony	10		1		181		49		20.11
R. C. Butt	11		0		203		63		18.45
B. S. Morris	. 10		0		163		51		16.30
†P. J. Bunyan	10		1		138		61		15.33
R. H. Mallows	11		3		108		37		13.50
R. K. Williams	. 11		0		113		50		10.27

Public	School	Crick	ot in	1963
F MOLLC	Demon	CILCA	ei in	1703

Bowling					
R. H. Mallows	Overs 113.1 114.1	14	Runs 348 328	Vickets 19 14	Average 18.31 23.42

#### BERKHAMSTED SCHOOL

The school captain, B. J. Keeling, brought his aggregate of runs after four years in the team to 1,999.

Played 13, Won 2, Lost 4, Drawn 7, Abandoned 2

Batting									
†B. J. Keeling R. W. Cottrell R. A. Niven R. M. Reyburn R. Wells D. C. B. Rush	13 12 11 12	N	ot ou 3 0 0 2 0 1	ts	Runs 486 261 228 171 153 139	Hig	hest in 137 67 44 94* 39 36*	ns.	Average 54.00 20.07 19.00 19.00 12.75 11.58
Bowling									
N. S. Lane P. A. Gallagher R. A. Niven C. J. Buckle	93	 	9 10 33 33	 	Runs 189 301 553 400		Vickets 12 18 25 12		Average 15.75 16.72 22.12 33.33

## BISHOP'S STORTFORD COLLEGE

Played 12, Won 3, Lost 5, Drawn 4, Abandoned 1

Batting									
R. H. Edmondson B. L. Green T. P. Harding R. J. Lukies B. N. F. Mills †D. P. Bateman P. F. Head	12.	No	t out 5 5 0 0 0 1 1 1	s	Runs 248 177 282 267 218 201 183	Higi	hest in 46* 44* 58 55 31 67* 39	ns.	Average 41.33 25.28 21.69 20.53 16.76 16.75 15.25
Bowling									
G. J. Deal. B. L. Green S. J. Lander M. S. Barrand	Overs 161.5 183.4 79 80		idens 26 32 23 12		Runs 472 601 258 319	 	7ickets 29 26 10 12		Average 16.27 23.11 25.80 26.53

#### BLUNDELL'S SCHOOL

Played 14, Won 8, Lost 3, Drawn 3, Abandoned 1

Batting	Pann Si		DO R		tanizina			
E0.51 90	Innings	N	ot ou	ts	Runs	His	shest inns.	Average
†P. R. Price	. 14		4		671		113*	67.10
R. C. Davis	. 14		2		663		110*	55.25
M. R. Pierce	. 6		3		105		41*	35.00
J. S. D. Emmett	. 13		2		345		115	31.36
J. R. K. Rose	. 7		3		115		55*	28.75
S. D. D. Allen	. 14		0		283		62	20.21
A. G. Parker	. 12		2		163		37	16.30

Bowling	Overs	M	aiden	S	Runs	V	Vickets	S	Average
R. J. Ackroyd A. C. Parsons P. R. Price R. C. Davis	165.5 111.1	::	37 26		608 480 346 565		41 28 19 29	::	14.82 17.14 18.21 19.48

#### BOLTON SCHOOL

D. W. Brett's 65 wickets was a total unequalled for Bolton since the war. His medium paced bowling contributed considerably to another successful season.

Played 20 , Won 10, Lost 2, Drawn 8, Abandoned 1

J. W. Clark †R. Green D. Holdsworth V. C. Williams P. A. Lewis G. R. Marsh	21 10 14	No	ot out 4 1 3 3 1 2	s  	Runs 435 623 484 118 107 113	Hig	hest in: 69 112 82 42 18* 27	ns.	Average 33.46 32.78 26.88 16.85 8.23 7.53
Bowling D. W. Brett	184.4 62.3 174	M	aiden 59 40 13 48 12	s 	Runs 506 448 196 398 241	V	Vickets 65 29 12 23 13	Hose Hose Hose Hose Hose Hose Hose Hose	Average 7.78 15.44 16.33 17.30 18.53

#### BRADFIELD COLLEGE

Played 14, Won 4, Lost 3, Drawn 6, Tied 1

The second secon	t teel cer z .,	,, -	,				
Batting	9(1)		2	Runs	Highes	tinne	Average
	Innin	gs INOI	outs				
G. R. J. Roope	16		0	582	12		36.37
I. D. Stevens	13		2	280	6		25.45
E. H. Houstoun	16		4	301		6*	25.08
A. J. Spicer			2	330	6	1	23.55
W. A. Holder			2	194	3	5	16.16
J. D. Wyatt			0	227	3	0	14.18
M. C. James			1	101	2	9	11.22
D. K. L. Tod			2	102	1	5*	9.27
Bowling							
Bulling	Ove	re Ma	idens	Runs	Wick	cets	Average
D 337 337-44-			50	483	3	7	13.05
P. W. Watts				535	2		19.81
D. K. L. Tod	177		36	The second second		3	20.03
G. R. J. Roope	254		58	661	3	3	20.03

#### BRADFORD GRAMMAR SCHOOL

Played 9. Won 4. Lost 3. Drawn 2. Abandoned 2

Batting	Innings	N	ot out	ts	Runs	Hig	hest inns.	Average
J. T. Barraclough			1		239		75*	34.14
A. R. G. McIntosh	8		2		153		80*	25.50
R. P. A. Crossley	8		0		105		33	13.12
Bowling								
The state of the s	Overs	M	aiden	S	Runs	V	Vickets	Average
S. H. Smith			24	14.	189		18	10.50
J. G. M. Scarbrough	87.1		19		192		17	11.29
G. S. Robb	85.3		30		199		17	11.70

D-44

D - 44'-

## Public School Cricket in 1963

#### BRENTWOOD SCHOOL

After losing their first match against M.C.C. Young Professionals Brentwood were so successful that they won seven inter-school matches. They had two players, T. B. Russell and I. R. Acfield, in the representative schools match at Lord's.

#### Played 16, Won 12, Lost 1, Drawn 3, Abandoned 2

Datting									
	Innings	No	ot ou	ts	Runs	High	hest in	ns	Average
G. I. Bowman	14		4	industrial and	331	3	54*	115.	33.10
G. T. A. Harvey	16		4		357		81*	• •	29.75
†T. B. Russell	16		2		307		59*	• •	21.92
P. J. Crabtree	6		õ	199	116		44	• •	
I. J. K. Lintner	14		ŏ		225				19.33
S. N. Russell	12	• •	3	• •			35		16.07
M. J. Jones	11	• •	0	• •	136		43		15.11
141. J. Jones	11	• •	U	• •	126	• •	33		11.45
Bowling									
	Overs	M	aider	ıs	Runs	V	Vickets		Average
I. R. Acfield	276.1		124	1.3	439		53		8.28
D. L. Acfield	326.1		111		512		51		10.03
S. N. Russell	178.2		59		386		25		15.44
T. B. Russell	162		58		317		20	• •	15.85
			23	• •	211		20		15.05

#### BRIGHTON COLLEGE

#### Played 14, Won 6, Lost 4, Drawn 4

Batting									
	Innings	N	ot ou	ts	Runs	Hig	hest in	ıns.	Average
J. K. Lock	14		0		578		85		41.28
†N. H. C. Cronin	14		0		479		88		34.21
J. R. Ballard	14		0	oi	436		72		31.14
R. M. Lush	10		3		136		28*		19.42
M. P. Grose	13		1		228		37		19.00
R. A. G. White	13		0		173		58		13.30
Bowling									
Bally and Bally and	Overs	M	aider	ıs	Runs	V	lickets	3	Average
R. G. Green	180		43		485		37		13.10
R. M. Lush	81.5		17		281		20		14.05
K. R. G. Watkins	101.1		16		311		17		18.23
N. H. C. Cronin	171		39		583		24		24.29
S. D. K. Davison	95.4		23		275		10		27.50

#### BRISTOL GRAMMAR SCHOOL

### Played 12, Won 8, Lost 4, Abandoned 2

Datting									
	Innings	No	t out	S	Runs	Hig	hest in	ns.	Average
K. Millard	12		1		230		100*		20.90
M. J. Haynes			0		183		28		16.63
†B. J. Hoskins			0		190		71		15.83
M. R. Longley	9		1		101		30*	111/2	12.62
C. G. Yates	11		0		114		31		10.36
I. D. H. Clarke	12		1		104		18		9.45
Bowling									
Downing	Overs	M	aiden		Runs	77	Vickets		Average
I. D. H. Clarke		IVI				Y			8.34
			33	• •	342		41		9.79
C. D. W. Sheppard	199.2		48		421		43		3.17

## BRYANSTON SCHOOL

## Played 8, Won 2, Lost 3, Drawn 3, Abandoned 1

Batting  A. B. Stelling R. M. Horden M. C. Allen R. A. Pegna	8	No	ot out 0 0 0 0	s  	Runs 249 181 101 102	High	97 81 44 27	ns.	Average 31.12 22.62 16.83 12.75
Bowling †H. W. Chapman S. Arghabhadra M. R. Whitaker	104	M 	aiden 20 27 29	s	Runs 281 212 288	 	7ickets 25 16 17		Average 11.24 13.25 16.94

#### CANFORD SCHOOL

## Played 12, Won 4, Lost 4, Drawn 4, Abandoned 1

Batting I	nnings	No	ot ou	ts	Runs	High	hest in	ns.	Average
J. M. Dalgleish	12		1		248	1	60		22.54
R. J. G. Deighton	12		1		188		50*		17.09
D. J. Sloan	12		2		163		44		16.30
M. B. Hoare	10		0		162		48		16.20
M. M. Kenington	12		0		191		58		15.91
J. W. Riley	12		2		108		42		10.80
Bowling	Overs	M	aider	10	Runs	V	Vickets		Average
t Wallston	110	IVE	32		238		23		10.34
†J. Walkley W. S. Rippon-Swaine	85	130	8		223		15		14.86
J. M. Dalgleish	163.3		29		469		30		15.63
J. W. Riley	182		52		392		23		17.04

#### CATERHAM SCHOOL

#### Played 11. Won 2, Lost 3, Drawn 6, Abandoned 2

I tuyeu 1	1, 11 011 2,	203	, .	or to it	. 0, 1100					
Batting	Innings	No	t out	ts	Runs	High	hest in	nns.	Average	
†J. D. Strange	. 8		3		180		63		36.00	
R. Whittaker	40 A 10 A		1		284		46		31.55	
			3		122		50		24.40	
A. W. Gofton			2		135		39		22.50	
N. A. Miller		• •	1		161		41		17.88	
P. M. Brooks	. 10		1		101		71	(	17,00	
Bowling	Overs		iden	ıs	Runs	V	Vicket	s	Average	
P. M. Brooks	. 72.4		21		169		15		11.26	
D. J. Hartley			46		348		27		12.88	
W. B. Plaskett			39		329		17		19.35	

## CHARTERHOUSE SCHOOL

Powerful bowling, against which only one side scored as many as 200, was the main factor in an outstandingly successful season, containing convincing wins against Eton, Winchester, Bradfield and Westminster. Barker's 55 wickets was a school record, and with R. M. C. Gilliat and R. M. Illingworth he formed the foundation of the successes.

Played 13, Won 8, Lost 2, Drawn 3, Abandoned 2

Batting

Public School	Cricket in	1963
---------------	------------	------

## CHRIST COLLEGE, BRECON

Played 11, Won 3, Lost 5, Drawn 3

Batting	Innings	No	ot out	S	Runs	High	hest in	ns.	Average
M. J. Riddle	10		2		234		92*		29.25
†R. J. Pugh	9		2		192		48		27.42
M. S. Foster	11		1		198		53		19.80
S. R. O. Wallace	10		1		169		53		18.77
A. H. Turner	11		1	9.1.	183		63*		18.30
Bowling	Overs	M	aiden	ıs	Runs	V	Vickets	3	Average
J.I. Gibbs	118.2		34		277		25		11.08
L. M. G. Watkins	111		27		277		22		12.59
R. A. Reeves	64		7		242		16		15.12

#### CHRIST'S HOSPITAL

CHRIST'S HOSPITAL											
Played 11, Won 2, Lost 6, Drawn 3, Abandoned 2											
†C. Pinch. 1 R. C. Jaquarello. 1 M. H. Bishop. 1 P. W. Etherden. 1 M. J. Pitcher 1	5 1 1 1	outs 1 0 1 1 1 1 1 1	Runs 189 291 226 220 209 121 114	6	t inns. 5* 3 11* 88 64 87	Average 37.80 26.45 22.60 22.00 19.00 13.44 12.66					
Bowling	Ma	idens	Runs	Wic	kets	Average					
B. J. Ouaife 10	2.4 · · · 9.5 · · ·	16 23 13	388 358 478	2	22 12 14	17.63 29.83 34.14					
CITY OF LONDON SCHOOL											
		2, Lost 6									
Batting Inni  †M. J. Edwards. I C. S. H. Hampton. I A. D. Stansfield. I H. J. Simmons. I R. G. Radford.		t outs 2 1 3 1 1	Runs 600 207 138 239 178 207	Highe 1	st inns. 13 49 39* 65 58	Average 42.85 17.25 17.25 17.07 14.83 14.78					
M. J. Edwards	vers M 12.4 92.1 26.1	49 47 27	Runs 588 560 375		ckets 35 33 17	Average 16.80 16.96 22.05					
CI	CLAYESMORE SCHOOL										
Played 13, Won 5, Lost 5, Drawn 3											

Batting	Innings	No	ot ou	ts	Runs	Hig	hest in	ins.	Average	
A. G. Hamlyn	12		1		235		64*		21.36 13.83	
†J. G. R. Mathews	. 13		1		166		22		11.05	
M. G. Fletcher	. 13		1		135		33		11.20	

Batting										
	Innings	N	ot out	S	Runs	Hig	hest in	ns	Average	
R. M. Illingworth	13		3		549		167*		54.90	
†R. M. C. Gilliat	15		1		560	•	122		40.00	
A. P. Hopkins	13		3	M.	392		75*		39.20	
A. H. Barker	15		2		268		52		20.61	
J. N. Coleclough	12		2		172		27			
J. M. M. Hooper	14		1		221		56		17.20	
R. M. Baker	15	::	Ô		239		56		17.00	
24 2121 Dunot 1	15		U		239		30		15.93	
Bowling										
	Overs	M	aiden	S	Runs	V	Vickets		Average	
R. M. Illingworth	69.1		18		165		14	Mark!	11.78	
A. H. Barker	273.5		82		665		55	be de	12.09	
P. W. Gore	90.3		15		225		15		15.00	
B. M. L. Coulson	164.5	•	44		495		29		17.06	
	-01.0				1)		4		17.00	

#### CHELTENHAM COLLEGE

P. A. Baker's 700 runs included three centuries, but his batting was weakly supported, and Cheltenham were without a win in their inter-school matches, C. S. J. Coley, who had 28 victims in the 10 matches, kept wicket in outstanding fashion.

## Played 10, Won 2, Lost 5, Drawn 3, Abandoned 2

Batting									
	nnings	N	ot out	ts	Runs	Hig	hest in	ns.	Average
P. A. Baker	13		6		700		120*		100.00
†C. S. J. Coley	13		4		263		64*		29.22
D. C. Fermont	6		2		103		46		25.75
D. L. Anley	14	1	0		244	1 1 7 1	61		17.42
C. J. Smart	7		1	-	102	-	69		17.00
M. J. Silver	13		2	10	156	***	39*		14.18
J. W. Cooke	14		1		149		29		11.46
Bowling									
the Laster Laster and	Overs	M	aiden	S	Runs	V	Vickets		Average
M. J. Gallimore	167.3		42		517		32		16.15
N. C. P. Winstanley	207.4		48	54.	676		31		21.80
K. S. M. Pearman	147		47		415		16		25.93
J. W. Cooke	148.2		27		519		19		27.31
		11		5.7	017		1		

#### CHIGWELL SCHOOL

#### Played 11, Won 4, Lost 2, Drawn 5, Abandoned 1

	Innings	No	t outs	Runs	High	hest in	ns.	Average
P. J. Burnell	10		0	 301	ing.	107		30.10
P. Venn			2	 108		44*		27.00
G. W. Bone	11		3	 170		47*		21.25
J. E. C. Dixon	10		0	 187		48		18.70
C. G. Norton	10		0	 181		55		18.10
Bowling								
and I become the formula the	Overs	Ma	idens	Runs	N	lickets		Average
J. E. C. Dixon	180		62	 369		43		8.58
J. E. Mynn	69.3		24	 145		12		12.08
C. G. Norton	94.5		15	 303		16		18.93

<b>)</b> ,	ih	lic	Scho	01	Cric	kot	in	1963	
L	411	LLC	DUILL	111	1111	NEL	111		

754 Public School Cricket in 1963											
Bowling	0	Mald		тапин	D						
W. D. Buck	Overs 177.5	Maiden	S	Runs 322	Wickets 49	Average 6.57					
A. Hayden	151.2	30		364	32	11.37					
M. Dennett	52 45.3	3		161 148	10	14.63					
III. G. I letellet	43.3	0		140	10	14.80					
	CLIF	TON C	OLLI	EGE							
P	layed 14,	Won 7. 1	Lost 4	. Drawn	13						
Batting	,	.,, 2		, 2.4.							
	Innings	Not ou	ts	Runs	Highest inn	s. Average					
A. A. Chase †C. J. Maughan	8	3		144		28.80					
S. J. L. Evans	16 13	3		317 268	47	24.38					
D. Cottrell	13	0		262		24.36					
R. M. Ridley	13	6		135	34	19.28					
R. C. Hancorn	15	0		251		16.73					
J. C. Hill	15	1		230		16.42					
I. S. Carter	13	3		143	35	14.30					
Bowling											
	Overs	Maiden	IS	Runs	Wickets	Average					
J. Bretton	58	8		230		13.52					
R. J. R. Oats	210 220	50		591		14.07					
I. S. Carter	77	47		590 242	38	15.52					
H. R. StG. Hamersley	101	20		269	15	16.13					
		20		200	10	10.01					

## CRANBROOK SCHOOL

Played 12, Won 2, Lost 6, Drawn 4, Abandoned 2

Batting									
	Innings	N	ot out	S	Runs	High	hest in	ins.	Average
†P. J. P. Manwaring	12		0		245		46		20.41
A. A. Hollis	12		0		174		42		14.50
D. R. Guest				1 3			60		14.36
P. K. Thomas									11.58
							41		
M. K. Bradley	14		0		138		42		11.50
D!'									
Bowling	-								
	Overs		aidens		Runs	M	lickets		Average
R. J. Hillier			30		348		22		15.81
M. K. Bradley	155.4		41		391		24		16.29

## CRANLEIGH SCHOOL

Played 11, Won 2, Lost 7, Drawn 2

Batting

00.51 75	Innings	N	ot ou	ts	Runs	Hig	hest in	ns.	Average
L. E. Cotton	11		0		218		66		19.81
TR. H. Pullinger	11		1		194		42*		19.40
J. M. Miller	11		0		178		39		16.18
C. J. W. Gilbert	10		1		138		45*		15.33
J. L. Richardson	11		1		117		28		11.70
Bowling									
	Overs	M	aiden	S	Runs	V	lickets		Average
D. I. Dykes	101		27		161		21		7.66
I. E. Cotton	117.1		21		360		26		13.84
A. L. Maskell	136.5		26		413		23		17.95

CULFORD SCHOOL										
Played 11, Won 6, Lost 2, Drawn 2, Tied 1, Abandoned 5										
Batting Innings N	ot outs	Runs H	lighest inns.	Average						
C. J. Ringrose 13	2	238 .	. 60	21.63						
J. R. Lister 11	4	149 .		21.28						
†A. G. Long	1	110 .	10	15.71 15.33						
J. W. Edwards 12	0	184 .	. 40	15.55						
Bowling		Duna	Wickets	Average						
A. G. White		Runs 260	00	Average 13.00						
J. R. Lister 143.5	41	375 .	. 27	13.88						
J. W. Edwards 107	21	279 .	. 19	14.68						
DAUNTS	EY'S SCH	OOL								
Played 13, Won 10, L	ost 2, Drawi	n 1, Abana	doned 3							
Batting				A B						
	ot outs		lighest inns.	Average 46.71						
A. W. Barnes	2	325 .	m1	29.54						
P. R. Ost	0	295 .	. 78	22.69						
A. R. Matthews 12	2		. 57	21.10 20.63						
†M. P. M. Russell 12	1	227 .	. 38	20.03						
Bowling		D	XX7: -14-	Avanaga						
	faidens 25	Runs 284	Wickets	Average 8.35						
G. L. White	29		. 32	9.62						
A. G. Wheeler 85.3	25		. 21	12.09						
P. H. Oxley 99.7	24	263 .	. 13	20.23						
	LOSE SCH									
Played 13, Won 2, Le	ost 5, Drawi	16, Abana	loned 2							
Batting Innings N	Not outs	Runs I	Highest inns.	Average						
R. L. Sutton 12	2		. 58*	25.70						
M. W. Bawden 14	1	202	. 54	25.46						
P. W. Smallwood 14			. 83	25.25 20.30						
G. Horton		4 10	. 30*	15.77						
P. H. Wickham 13	0	174 .	. 56	13.38						
T. R. Lomas	1	100 .	. 32	11.11						
Bowling										
Overs N	Maidens	Runs	Wickets	Average						
†D. B. Young 195.3			36	15.44 19.20						
R. A. Farnes	40		32	21.37						
	ONE COLI		orizi beneveza							
Played 13, W			books							
Batting Flayed 15, W	01. 5, Lost 5	, 2,4,7,7								
Taning	Tat outs	Dune	Highest inns.	Average						

Batting	Innings	No	ot out	s	Runs	Hig	hest in	ns.	Average
M. L. C. Hankinson			1		376		94*		28.92
R. W. Smith	100,000,000		0		392		100		28.00
R. L. Short.			3		286		67		26.00
A. N. Barnsley			1		263		74		20.23
K. B. Turnbull			4		146		60*		18.25
			1		151		80		13.72
A. Young †C. R. Wheatman			1		127		42		12.70

Dublic	School	! Cricket	in 1963
Public	SCHOOL	Cricker	111 1703

~	_	_
- 1	•	- 1
- 1	_ ,	- 1

Bowling	Overs	aiden	S	Runs	V	Vickets		Average
K. B. Turnbull				180		12		15.00
S. J. Shrouder	189.3	 70		464		30		15.46
G. P. Oldknow	155	 44	O PI	370		21		17.61
I. Duff	111.5	36		289		16	die.	18.06
C. R. Wheatman		59		518		25		20.72

#### DOUAI SCHOOL

#### Played 12, Won 5, Lost 3, Drawn 4

Batting P. C. Jeffery. †R. G. Hall.	Innings 12 12		ot ou		Runs 244	Hig	hest in	 Average 22.18
J. C. Greenwood. D. M. Smallwood. F. B. Kean.	12		0 3 2	136	203 199 123 125		38 34 19 27	 16.91 16.58 15.37 12.50
B. C. Caldwell	Overs 194 171.1 119.3	M 	aiden 54 41 30	s 	Runs 461 405 300		Vickets 37 32 15	 Average 12.45 12.65 20.00

#### DOVER COLLEGE

#### Played 10, Won 5, Lost 5, Abandoned 1

Batting									
EC.05 EL	Innings	N	ot ou	ts	Runs	Hig	hest in	ins.	Average
I. E. Seymour	10		0		263		79		26.30
N. M. Khan	10	130	1		203		53		22.55
R. B. Burnett	10		Õ		180	F 1 1 1 1	46	•	18.00
A. J. Wilder	10		1		142		39	• • •	15.77
†P. M. Bart-Smith	10		Ô		146		73		14.60
P. J. Yates	10		0		117		32		11.70
Bowling									
	Overs	M	aiden	S	Runs	N	Vickets		Average
R. B. Burnett	160.4		49		406	- 17	36		11.27
G. Paton	116.1		33		272		21		12.95
K. H. B. Torry	115		26		288		14		20.57
			1979	TO HOLD			-		The same of the same of

#### DOWNSIDE SCHOOL

Downside owed much to the off-spin bowling of R. M. Michell and the fast outswingers of R. F. Thompson. Though pitches were mostly too slow to encourage him, Thompson bowled with consistent success and took eight for 17 in 17 overs against Kingswood School.

#### Played 12, Won 4, Lost 5, Drawn 3, Abandoned 2

Batting									
	Innings	No	ot ou	ts	Runs	Hig	hest in	nns.	Average
T. A. Coghlan	12		1		303		64		27.54
E. P. G. Dearman	12		2		202		65		20.20
R. F. Michell	12		0		229		57		19.08
P. J. Hansom	13		1		227		49	- Lore	18.91
J. P. D. Hooley	8		î	•	102		26	Suple	14.57
R. G. H. Woodhead		•	0	• • •	163		68		13.58
†S. P. Byrne			0	• •	105		16	11000	9.54

Bowling	Overs	M	aidens	Runs	W	ickets		Average
R. F. Michell R. F. Thompson	179.1 202.2			 575	y 1110	43 42	**	11.76 13.69
P. J. Hansom	71		9	 222		12		18.50

#### DULWICH COLLEGE

## Played 13, Won 4, Lost 6, Drawn 3, Abandoned 4

Batting	TELEV				n	TT:-1			Avianaga	
	Innings	N	ot out	S	Runs	High	nest in	ns.	Average	
N. J. Cosh	. 12		1		326		84		29.63	
J. S. Bottle			1		262		56	3.918	21.83	
R. D. V. Knight			2		221		42*			
J. Dobson			1		181		48		18.10	
†H. J. George			2		116		27		14.50	
R. C. W. Wood			1		135		30		13.50	
N. B. Bennett			0		125		23		9.61	
Bowling									J. O. Hev	
	Overs	M	aiden	S	Runs	V	Vickets	Ider	Average	
J. Dobson	. 97		27		188		16	2000	11.75	
C. A. Jones			45		384		22		17.45	
R. C. W. Wood		1.	29		465		26		17.88	
H. J. George			34		334		13		25.69	
N. B. Bennett		120	25	See !	355		10		35.50	
11. D. Donnett										

#### DURHAM SCHOOL

## Played 9, Won 4, Lost 1, Drawn 4, Abandoned 4

Batting	Innings	N	ot ou	ts	Runs	High	nest in	ns.	Average
J. Minto	. 7		2		152		40*		30.40
†I. Hind	. 9		1		232		75		29.00
J. Phillips			0		175		55		21.87
W. H. D. Oliver			0		110		38		12.22
Bowling	Overs	M	aider	10	Runs	W	ickets		Average
A TP TT	0.010	TAT	26		217		26	Harr	8.34
A. T. Hay			60		255		29	Zobe	8.79
P. G. Watson			32		143		10		14.30

#### EASTBOURNE COLLEGE

## Played 16, Won 6, Lost 6, Drawn 4, Abandoned 1

Batting	Innings	No	ot ou	ts	Runs	Highest inns.	Average
T. J. Trigg	15		5		252	46	25.20
†R. J. Wilson	17		2		356	64	23.73
N. W. F. Richards	17		2		355	108*	23.66
P. F. Jeffery	16		0		375	65	23.43
R. A. V. Marchand	15		4		230	47*	20.90
G. C. M. Davis	17		1	M	325	56	20.31
A. G. Pye	13	• •	1		137	29	11.41
Bowling	- Sea					Wickets	Average
	Overs	M	aiden		Runs	12	14.15
R. A. D. Perkins	73		21		184	20	21.27
P. F. Hepburn	219.4		58		617	15	21.33
T. J. Trigg	75.5		12		320	00	22.28
R. J. Wilson	178.2		31		624	28	22.20

#### THE EDINBURGH ACADEMY

No batsmen has scored so many runs for Edinburgh Academy as J. N. Sands, whose aggregate in four years is almost 2,000. His 835 total in 1963 has only once been exceeded in a season, by K. W. Marshall in the thirties.

### Played 14, Won 6, Lost 2, Drawn 6, Abandoned 2

Batting									
	nnings	N	ot ou	ts	Runs	Hig	hest in	ns.	Average
J. N. Sands	17		4		835		111*		64.23
†M. S. Elcock	13		4		317		96*		35.22
J. G. Fleming	13		3		212	2.	65*		21.20
N. H. Calderbank	17		3		294		47*		21.00
A. I. Masterson	13		1		205		52*	. 611	17.08
J. A. Crerar	10		2		132		41*		16.50
Bowling									
	Overs	M	aider	ıs	Runs	V	Vickets		Average
M. S. Elcock	171		65		311		27	1900	11.51
A. I. Masterton	175		49		440		38		11.57
J. O. Hewitt	67		28		139		12		11.58
N. H. Calderbank	126.3		25	M. I	317		25		12.68
P. D. Wands	105		66		322		18		17.88

#### ELLESMERE COLLEGE

oe e	Played 14,	Wor	1 3, 1	Lost 2	, Drawi	19			
Batting									
	Innings	No	ot ou	ts	Runs	Hig	hest in	ins.	Average
C. C. Hughes	. 12		0		242		58		20.16
D. Edwards	. 13		0	THE L	227	N. BRAD	32		17.46
R. J. Richards	. 14		Ŏ		243		65		17.35
R. Baxter	. 14		5		147		52		16.33
J. J. Laithwaite			3		143		38	•	15.88
T. S. Metcalfe			3		116		37		12.88
R. Stretton			2	• •	113		24		9.41
R. Stretton	. 17		4		113		44		7.71
Bowling									
	Overs	M	aiden	S	Runs	W	Vickets		Average
R. W. Baxter			21		468		36		13.00
G. P. Cowell			26		473	• • •	36		13.13
†F. P. Hodgkinson			32		271		14		19.35
11.1. Houghinson	. 100		34		2/1		14		17.33

#### ELTHAM COLLEGE

#### Played 7, Lost 5, Drawn 2, Abandoned 1

C. E. Day	7	 ot outs 2 0 0 0	 Runs 129 128 128 135	High	hest in 28 55 35 35	nns.	Average 21.50 18.28 18.28 16.87
Bowling C. H. Thompson C. E. Day	Overs 71.2 78.2	 aidens 17 12	Runs 221 276	 	Vickets		Average 20.09 25.09

#### **EMANUEL SCHOOL**

A. B. Parley's fast bowling was the main factor in Emanuel's success. As in 1962 only two of 17 matches were lost.

Played 17, Won 10, Lost 2, Drawn 5, Abandoned 1

Batting									
	Innings	No	ot out	S	Runs	High	hest in	ns.	Average
†V. J. Dodds	15		6		562		124*	do.M	62.44
R. Austin	16		6		417		59		41.70
A. B. Parley			4	11.	152		54		25.33
D. C. Stafford			2		319		61		19.93
R. W. Archer			1		250		77		15.61
M. J. Stewart			2		117		54		11.70
M. J. Beeware	. 10	OH							
Bowling									
Bourney .	Overs	M	aider	S	Runs	V	Vickets	3	Average
A. B. Parley	292.5		106		553		66		8.37
							0.0		1100
P I Wilkinson	176		29		541		38		14.23
P. J. Wilkinson		• •	29 35	• • •			13		15.53
V. J. Dodds	106.1	::	35		202				
V. J. Dodds	106.1 194		35 67		202 460		13		15.53
V. J. Dodds	106.1 194		35		202		13 24		15.53 19.16

#### **EPSOM COLLEGE**

Epsom were unbeaten in School matches. Their strength lay in consistent batting far down the order and splendid fielding. W. G. Campbell played two particularly good attacking innings, including a century hit before lunch.

#### Played 14, Won 6, Lost 3, Drawn 5, Abandoned 1

Batting									
distribution of the state of th	Innings	No	ot out	ts	Runs	High	hest in	ns.	Average
R. B. Stober		310.0	0		426		52		28.40
W. G. Campbell			0		394		152		26.26
G. R. Potts			2		284		88*		21.84
			2		252		81*		21.00
C. Mundy				old.	293		50		20.92
†R. S. Tibbits		• •	3		174		44		17.40
I. Beresford-Clarke							31		14.10
S. E. Poole	. 11		1		141				13.40
J. R. Breckenridge	. 13		3		134		39*		
G. B. D. Lane	. 12		3		102		62		11.33
Bowling									4 1 1 1
	Overs	M	aider	15	Runs	V	Vickets	-	Average
R. Paice			35		356		21		16.95
D. Newton			47		550		32		17.18
G. B. D. Lane			30		372		19		19.57
			35		497		25		19.88
G. R. Potts	1262		27		425		15		28.33
S. E. Poole	. 136.3		21		723		13	BRIDE	20.55

#### ETON COLLEGE

Had the weather not prevented Eton from exploiting their apparently unassailable positions against Winchester and Harrow, their record would have been impressive, even if it included a heavy defeat by Charterhouse. A strong team owed most to the batting of D. Calvert-Smith and M. V. C. Williams, the left arm googly bowling of G. R. V. Robins and the opening bowling of N. C. Pretzlik.

### Played 16, Won 6, Lost 2, Drawn 8

Batting										
10.00	Innings	No	ot ou	ts	Runs	High	hest in	ns.	Average	
D. Calvert-Smith	16		5		551		80*		50.09	
M. D. T. Faber			6		351		73*		39.00	
M. V. C. Williams			2		558		91		37.20	
R. C. Daniels	. 9		2		216		84		30.85	
†C. E. Braithwaite			4		114		31*		28.50	
T. G. W. Best			1		295		76		22.69	
N. C. Pretzlik	. 14		2		259		75		21.58	
R. A. Pilkington			3		146		32		16.22	

## Public School Cricket in 1963

## Public School Cricket in 1963

#### 761

Bowlin	ng
--------	----

CDUDI	Overs	M	laider	IS	Runs	V	Vicket	S	Average
G. R. V. Robins	115		18		350		25		14.00
J. P. W. P. Consett	101		22		276		17		16.23
N. C. Pretzlik	203		44		673		31		21.70
R. A. Pilkington	134		12		460		17	Dio!!	27.05
R. C. Daniels	111		7		525		17	3000	30.88

#### EXETER SCHOOL

Played 1	J, Won 3	3, Lost 4, Draw	n 3, Abo	andoned 1	
Batting					
†P. J. Gilpin	Innings 10		Runs 160	Highest inns.	Average 20.00
R. M. Whitelaw C. D. Farrar-Hockley	10	10	104 107	24*	11.55
Bowling					
C. J. R. Cooke		Maidens 27	Runs 250 276	Wickets 29 22	Average 8.62 12.54

#### FELSTED SCHOOL

Only twice were Felsted bowled out, and a side led to an attacking policy by N. J. Chapman was uniformly successful. Chapman and J. D. Smith earned their selection for the representative Schools match at Lord's by their fine all-round form.

## Played 17, Won 9, Lost 3, Drawn 5, Abandoned 1

Batting									
	Innings	N	ot ou	ts	Runs	Hig	hest in	ns.	Average
J. D. Smith	16		1		751		131		50.06
T. J. Lowe	9		2		324	1000	100*		46.28
R. I. Stimpson	5		2		130		52		43.33
TN. J. Chapman	16		ō		533	-	102	1	33.31
R. J. Nokes	16		3		415		63*		31.92
R. A. Dunstan	14		4		281		50		28.10
P. F. Moorby	14		3	34	286		72*		26.00
K. M. R. Foster	10		4	all a	131	• • •	45*	• •	21.83
A. D. Jeyes	îĭ	::	4		129		43	::.	18.42
		•		• •	12)		43		10.72
Bowling									
CA CALL CONTRACTOR OF THE PARTY	Overs	M	aiden	S	Runs	V	Vickets		Average
N. J. Chapman	258		70		719		52		13.82
J. D. Smith	153		41		437		25	::	17.48
A. D. Jeyes	151		49	100	374		17		22.00
R. B. Cullen	158		40	here.	461	A	17		27.11
to the state of the state of the state of				1.000	401	01.	11		21.11
					LOCAL DE LO				

#### FETTES COLLEGE

#### Played 8, Won 4, Lost 3, Drawn 1

Batting									
A. I. G. Kennedy	Innings 7	N	ot ou	ts	Runs 149	Hig	hest in 70*	nns.	Average 49.66
†H. M. Jolly	8		0		147		108		18.37
C. K. J. Kirsop	9		2		108		39		15.42
Bowling									
	Overs	M	aider	IS	Runs	V	Vickets	3	Average
A. A. Russell	71.1		33		112		15		7.46
B. J. Leslie	37		13		80		10		8.00
C. K. J. Kirsop	121		38		255		17		15.00
C. W. S. Graham	77.3		18		207		13		15.92

#### FOREST SCHOOL

### Played 14, Won 4, Lost 2, Drawn 8

Batting									
	Innings	Not outs			Runs	Highest inns.			Average
R. S. Marshall	15		2		505		107		38.85
I. B. Caffrey			2		334		77*		25.69
S. D. Brown			3		242		87*		24.20
A. T. Leek			5		141		33		17.62
†R. D. Barnes			4		109		27		13.62
Rowling									
Bolling	Overs	M	aiden	S	Runs	V	Vickets		Average
R. R. Seggins	158		47		395		22		17.95
			21		293		15		19.53
			32		381		19		20.05
			20		441		20	bis.	22.05
Bowling  R. R. Seggins I. B. Caffrey R. S. Marshall C. F. Newman	158 93 146.1		47 21 32		395 293 381	v	22 15 19	ooos bis.t	17.95 19.53 20.05

#### FRAMLINGHAM COLLEGE

#### Played 9, Lost 6, Drawn 3, Abandoned 1

Batting									
Zattung.	Innings	Not outs			Runs	Hig	hest in	Average	
W. G. Lack	10		1		181		91*		20.11
M. C. Pearse	9		0		142		33		15.77
M. J. S. Hills	10		1		115		49*		12.77
H. D. Jenner	10		1		111		56		12.33
†S. T. Sayer			0		123	H 4 H	38		12.30
Bowling									
	Overs	M	aiden	S	Runs	V	<b>Vickets</b>		Average
H. D. Jenner	135.1		35		387		37		10.45
S. G. Milner			5		176		13		13.53
N. S. Allan	109.5		21		367		20		18.35

#### GEORGE WATSON'S COLLEGE

## Played 14, Won 4, Lost 6, Drawn 4, Abandoned 1

Batting	Innings	No	ot out	S	Runs	High	hest in	ins.	Average	
D. W. Anderson			1		316		84 62		22.57 16.15	
†G. F. Masterson R. R. Keddie		• •	0		210 196	• • • • • • • • • • • • • • • • • • • •	50		13.06	
P. A. Bewsey			1		156		39		13.00	
Bowling										
	Overs	M	aiden	S	Runs	N	Vickets	3	Average	
R. R. Keddie			30		387		36		10.75	
D. T. Hetherington			49		331		28		11.82	
R. R. Chalmers	66.1		22		156		10		15.60	

#### GORDONSTOUN SCHOOL

## Played 13, Won 5, Lost 4, Drawn 4, Abandoned 1

Batting	Innings	No	ot ou	ts	Runs	Hig	hest in	ns.	Average
T. H. Saville R. Harbinson	. 12				189 133		44* 30*		18.90 11.08

Public	School	Cricket	in 1963
1 uone	School	CHICKEL	111 1703

#### 763

Bowling	. 16	OH	38 3		09				
	Overs		aider	18	Runs	N	lickets	;	Average
C. Fisher			11		138		22		6.27
T. H. Saville	40.3		8		79		12		6.58
J. Nicholson	104.5		23		287		32		8.96
J. M. Coles			20		209		20		10.45
R. J. B. Stewart	54		13		154		13		11.84

#### GRESHAM'S SCHOOL, HOLT

Played 11, Won 2, Lost 4, Drawn 5, Abandoned 1

Batting									
	Innings	No	t out	S	Runs	Hig	hest in	ns.	Average
tG. W. Goodley	11		0		378		89		34.36
M. J. D. Laidler			1		218		72	Market N	21.80
W. R. Dale	11		2		180		49*	man and	20.00
M. H. Eastwood			2		117		46*		16.71
M. I. Brunt			1		115		37		12.77
S. C. C. Ford			0		108		23		9.71
Bowling									
Bowling	Overs	Ma	nidens	d to	Runs	V	lickets		Average
		Ma	idens		Runs 289	W	ickets		Average 17.00
S. K. Gibson	89	Ma			Runs 289 348				Average 17.00 20.47
S. K. Gibson	89 121		17		289 348		17	::	17.00
S. K. Gibson	89 121 153		17 23		289		17 17		17.00 20.47

#### HABERDASHERS' ASKE'S SCHOOL

Played 13, Won 3, Lost 4, Drawn 6

Batting									
	Innings	N	ot ou	ts	Runs	Hig	hest in	ins.	Average
P. C. Hovell	13		3		262		71*		26.20
K. N. Underwood	13		2		280		59		25.45
†M. S. Sorrell	13		0		276		64		21.23
P. F. H. Holt	10		0		179		50		17.90
A. J. Quick	11		1	. 4. 11	166		59		16.60
J. Maplesden	12		0	10.1.	131	NI NO	36		10.92
Bowling									
20,,,,,,	Overs	M	aiden	S	Runs	V	lickets		Average
K. N. Underwood	170		35		477		29	379101	16.44
W. J. Webb	76		5		272		15	Table 1	18.13
J. R. Matthewman	135		26		419		17	9400	24.64
J. Ridgley	122		25		338	4 1 1 1 1	13		26.00
						-			

#### HAILEYBURY AND I.S.C.

Played 11, Won 2, Lost 5, Drawn 4, Abandoned 1

Batting									
	Innings	Not outs			Runs	Hig	hest in	ins.	Average
G. A Smale	. 14		2		305		47		25.41
†D. N. Sibcy			0		287		72		23.91
A. G. C. Harper			0		228	-	116		22.80
A. C. S. Gordon			1		158		59*		22.57
H. E. Nicholls		11.3	1	14	231		83		17.76
M. P. Norgate			2		147		40		13.36
D. Barua			2	4.0.	149		32		12.41
D. J. Skinner			0		171		42		12.21

Bowling	Overs	M	aiden	IS	Runs	V	lickets	,	Average
D. Barua	180.1		56		418		24		17.41
R. W. Richardson	157.3		66		326		18		18.11
M. A. E. St. George	120		27		343		18		19.05
D. J. Skinner	135.5		43		361		17		21.23
H. E. Nicholls	127.5		24		396		18		22.00

#### HARROW SCHOOL

Harrow were ably led by R. J. Pelham and eventually became a good fielding side. D. W. W. Norris was again in fine form behind the wicket and was due to remain for the 1964 season along with seven Old Flannels.

#### Played 12, Won 6, Lost 4, Drawn 2, Abandoned 3

Batting									
Malaka Santa Santa Santa I	nnings	N	ot ou	ts	Runs	High	hest in	ns.	Average
†R. J. Pelham	16		1		482		85		32.13
R. J. Clover-Brown	11		0		253		58		23.00
D. W. W. Norris	15		2		288		62		22.15
A. W. Laurie	16		0		259		43		16.18
A. N. Henley-Welch	13		2		159		43		14.45
R. I. Evans	15		2		178		40		13.69
R. W. Evans	14		2		157		45		13.08
M. Rahman	12		3		100		30		11.11
Bowling						2000			17. 17
	Overs	M	aiden	IS	Runs	A	lickets	3	Average
J. F. P. Cooper	60		16		163		12		13.68
B. G. D. Blair	202		51		488		29		16.82
C. A. Holt	155.3		40		390		22		17.72
R. I. Evans	160		40		423		20		21.15
M. Rahman	177.4		38		530		21		25.23
R. J. Pelham	94		18		358		13		27.53

#### HEREFORD CATHEDRAL SCHOOL

Played 11, Won 6, Lost 3, Drawn 2

Batting	Innings	No	ot out	S	Runs	High	hest in	ns.	Average
E. A. Washington	8		2		101		28		16.83
†P. M. S. Hill	10		0		161		39		16.10
A. C. Craig	10		1		104		32		11.55
J. F. Knipe	10		1		101		34		11.22
Bowling									
	Overs	M	aiden	S	Runs	N	lickets		Average
A. B. Singer	95.5		32		165		24		6.87
C. Mugridge	124.5		46		198		23		8.60
E. A. Washington	55		11		145		14		10.35

#### HIGHGATE SCHOOL

Played 12, Won 5, Lost 3, Drawn 4, Abandoned 3

Batting									
	Innings	No	t out	ts	Runs	High	hest ir	nns.	Average
N. C. Lederer	. 11		1		219		66		21.90
†D. L. Hays	. 12		0		234		49		19.50
M. W. Loom	7		0		116		86		16.57
R. J. Booth	. 10		2		113		38		14.12
G. K. Reid	12		0		169	2	45		14.08
R. N. Taylor	. 12		1		102		46		9.27

Public School Cricke	t in	1963
----------------------	------	------

#### 765

Bowling								
Wieless Austrages	Overs	M	aidens	Runs	V	Vickets		Average
G. K. Reid	133		38	 301		38		7.92
M. G. St.J. Sutton	82.1		21	 280		15		18.66
G. W. Crofts	78.4		16	 243		13	1	18.69
D D Dannie	120		27	201		10		24 50

#### HURSTPIERPOINT COLLEGE

This was clearly the school's best all-round side for many years. St. John's Leatherhead, Eastbourne, Whitgift and Caterham were thoroughly beaten and the only full school match lost was against Brighton.

#### Played 12, Won 7, Lost 3, Drawn 2, Abandoned 3

Batting							
The state of the s	Innings	N	ot out	S	Runs	Highest inns.	Average
R. I. E. Carswell	12		1		381	108*	34.63
J. S. Beard	12		1		346	68	31.45
R. C. Hutchinson	12		1		277	64*	25.18
R. D. Holgate	11		3		161	47*	20.12
P. N. Ayton	10		3		139	50	19.85
†J. R. M. Hall	12		0	••	228	64	19.00
Bowling	17072					T	M. Rahm
20112-8	Overs	M	aidens	3	Runs	Wickets	Average
R. W. Smart	197.4		51		412	45	9.15
M. B. A. Dyer-Smith	114.5		31		301	25	12.04
J. R. M. Hall	91.2		19		261	20	13.05

#### IPSWICH SCHOOL

## Played 9, Won 3, Lost 2, Drawn 3, Tied 1, Abandoned 4

A. J. C. Jerman D. E. Prentice  †A. N. R. Millington R. J. Garrard D. F. A. Loxton	11 9 11 7	Not outs 1 1 0 1 0	Runs 326 214 158 150 100 106	Highest inns.  . 122* . 83 . 64 . 33 . 50 . 24	Average 32.60 21.40 17.55 15.00 14.28 9.63
J. R. Mortimer  Bowling  J. M. Thorn A. N. R. Millington C. S. Cordle J. W. B. Martin	Overs 89 103 94	Maidens 24 12 24 16	Runs 210 358 304 243	Wickets 17 21 17 10	Average 12.35 17.04 17.88 24.30

#### KELLY COLLEGE

## Played 12, Won 5, Lost 5, Drawn 2, Abandoned 3

Batting	Innings	No	t out	S	Runs	Hig	hest in	ins.	Average 25.00
A. R. Bloxham	. 11		4		175		56*		22.36
J. C. Berry	. 12		1		246		56	10.00	15.30
A. D. Dolton			1		153 167		58		15.18
M. Franklin	10		0		108		22		9.00
N. A. Flux	. 12		U		100				

Bowling	Overs	M	aidens	Runs	,	Wickets	Average
A. R. Bloxham	143		43	 334		33	 10.12
R. B. Ridgway	87		18	 266		25	 10.64
T. L. Bowley	32		4	 141		13	 10.84
A. D. Dolton	92		20	 238		16	 14.87

#### K.C.S., WIMBLEDON

#### Played 15, Won 4, Lost 7, Drawn 4

Batting									
patting	Innings	N	ot out	S	Runs	High	hest in	ns.	Average
A. Jones	15		1		372		87		26.57
G. W. Watson	14		0		346		67		24.71
†D. M. Denny	15		1		302		109		21.57
D. R. Owen-Thomas			2		151		41*		21.57
N. E. Robson			2		202		37		15.53
G.R. Clark			0		222		71		14.80
H. Buckingham			3		146		55		14.60
D. R. Holland	15		0		140		27		9.33
D. 11									
Bowling	0	3.4	aiden		Runs	17	Vickets		Average
D Y YY 1 1	Overs	IVI			197		14		14.07
P. J. Warland			9				-		18.65
G.R. Clark			21		485		26		
H. Buckingham	176		39		561		29		19.34
N. E. Robson			25		381		16		23.81
G. W. Watson	. 89		10		370		12	• •	30.83

## KIMBOLTON SCHOOL

## Played 12, Won 4, Lost 5, Drawn 3, Abandoned 1

Batting									
	nnings	No	ot out	S	Runs	High	nest in	ns.	Average
S. L. Chamberlain	12		3		287		76		31.88
R. I. Knapp	10		1		254		70*		28.22
P. Moulton	11		0		223		72		20.27
B. D. O. Jones	9		1		114		39		14.25
M. C. Spencer	9		2		100		40		14.28
J. F. B. Tams	12		1		119		28		10.81
with D. Tamis									
Bowling									
bouning	Overs	M	aiden	S	Runs	V	lickets		Average
R. I. Knapp	46		12		122		16		7.62
M. C. Spencer	160		43		372		30		12.40
M. W. Roddis	113	::	31		295		16		18.43
A. B. Layton-Smith	99		15		367		18		20.38
a. b. Layton-Simin	"		15		50.				

## KING EDWARD'S SCHOOL, BIRMINGHAM

J. A. Barnfield contributed two centuries in successive innings towards the school's fine season.

## Played 16, Won 8, Lost 4, Drawn 4, Abandoned 4

Batting	Innings	No	t ou	ts	Runs	His	hest in	ns.	Average
J. A. Barnfield			3		510		116*		39.23
J. D. Rees			4		287		62*		23.91
P. A. Bowes	. 12		5		122		47		17.42
A. J. Watts	. 14		2		207		46*		17.25
R. C. J. Page	. 15		0		198		58		13.20
M. R. Shenstone	. 15		1		114		30*		8.14

Public	School	Cricket	in 1963	,

#### 767

Bowl	ing
------	-----

Batting

Attended Starte W	Overs	M	laider	ıs	Runs	Wickets			Average
R. I. Nuttall	187		52		413		41		10.07
R. C. J. Page	244.2				605		55		11.00
D. B. Taylor					351		20	•	17.55
A. J. Watts	97		21		288		16		18.00
D. R. Field	91		20		263		13		20.23

#### KING EDWARD VI SCHOOL, STOURBRIDGE

Played 12, Won 4, Lost 3, Drawn 3, Tied 2, Abandoned 3

Datting									
	Innings	N	ot ou	ts	Runs	Hig	hest in	ins.	Average
B. J. Nightingale	11		2		168		41*		18.66
†S. F. Macfarlane	11		3		134		32*		16.75
K. A. Booth	10		0		161		47		16.10
P. G. George	10		1		102		33*		11.33
Bowling									
	Overs	M	aider	ıs	Runs	V	Vickets	3	Average
K. E. Hurd	58.2		13		137		17		8.05
M. A. Shilvock	140.5		40		241		29		8.31
M. Mees	57.5		18		105		10		10.50
K. A. Booth	93.5		24		217		14		15.50

#### KING HENRY VIII SCHOOL, COVENTRY

Played 12, Won 2, Lost 6, Drawn 4, Abandoned 2

Batting	Innings	N	ot out	9	Runs	Hio	hest ir	ns	Average
†J. T. Liggins	13		1		358		96		29.83
W. P. Birkinhead J. A. Chambers			3		146		28		16.22
M. D. Joy			0	::	124 100	::	39		15.50 8.33
Bowling									
	Overs	M	aiden	s	Runs	V	lickets	3	Average
A. R. Armstrong	109		23		270		23		11.73 13.57
E. A. McCutcheon T. O. Burnill	91 130.3	::	21 28		258 441	::	19 30	• • •	14.70
						111			

#### KING WILLIAM'S COLLEGE, ISLE OF MAN

Played 12, Won 6, Lost 1, Drawn 5

	Innings	N	ot out	S	Runs	Highest inns.			Average
D. A. H. Allan	13		4		405		78		45.00
†T. E. Bridson	13		2		183		75		16.63
M. C. Beaty-Pownall	11		2		128		26*		14.22
M. E. Miller	11		0		142		38		12.90
Bowling									
	Overs	M	aiden	S	Runs	M	Vickets		Average
D. A. H. Allan	166.3		37		441		47		9.38
J. C. A. Bell	112.3		32		252		25		10.08
G. T. Wood	84.2		20		208		14		14.85

#### KING'S COLLEGE, TAUNTON

Played 15, Won 8, Lost 4, Drawn 3

Batting									
The state of the s	nnings	Not outs			Runs	ins.	Average		
tB. H. White	15		4		803		112		73.00
R. P. Bentley	12		1		334		85		30.36
C. M. Wilkes	14		4		224		89		22.40
B. D. Evans	8		1		141		81		20.14
R. W. J. Vincent	13		3		142		38		14.20
P. W. Dupée	13		0		174		59		13.38
TO SECURE									
Bowling									
	Overs	M	aiden	S	Runs	V	Vickets	,	Average
B. H. White	191.3		54		495		43		11.51
F. J. Rose	229.1		83		473		37		12.78
S. J. Longden	144.1		39		388		24		16.16

#### KING'S SCHOOL, BRUTON

Played 9, Won 2, Lost 5, Drawn 2, Abandoned 3

Batting									
	Innings	N	ot out	ts	Runs	Hig	hest in	ins.	Average
T. T. B. Paris	12		0		362		69		30.16
J. C. Mbanefo	5		1		110		37		27.50
A. P. Slay	8		1		111		37		15.85
R. R. Williams					142		34		11.83
Bowling									
Downing	Owers	7.4	oidon	0	Dune	V	Tial rate		Augraga
I II Dahatha								,	
n. Esnelby	13.4								
			39		226		16		14.12
D. J. Earle	72.5		13		222		13		17.07
J. H. Eshelby. A. C. C. Buck. †D. J. Earle.	112.2				Runs 155 226 222				Average 7.75 14.12 17.07

#### KING'S SCHOOL, CANTERBURY

A well-balanced side was not only unbeaten, but it finished all its drawn matches favourably placed to win. At fifteen J. R. Kilbee headed the batting averages. In the field the pace of S. S. Barker and R. P. S. Masterton-Smith and the leg spin of P. J. Cattrall were so effective that only one total as high as 200 was scored against them. Masterton-Smith took six for 12 in 21 overs against St. Lawrence College and seven for 22, including a hat-trick against Highgate.

Played 14, Won 5, Drawn 8, Tied 1, Abandoned 2

Batting									
	Innings	No	ot ou	ts	Runs	High	hest in	Average	
J.R. Kilbee	15		5		396		88		39.60
M. P. Press	15		1		474		77		33.85
R. J. M. Collier	14		5		252		59*		28.00
A. R. Fryer	9		5		108		45*		27.00
R.I.B. Fisher	15		0		376		66		25.06
J. A. G. Paris	14		1		320		58		24.61
A.D. H. Turner	9		2		141		33*		20.14
S. S. Barker	11	Tip.	3		103		25*		12.87
		٠.							
Bowling									
8	Overs	M	aiden	9	Runs	KI.	Vickets		Average
S. S. Barker	205.4	1.1	60		518		40		12.95
R. P. S. Masterton-Smith	190.5		67		477		33		14.45
P. J. Cattrall	184.5		43		581		40		14.52
J. R. Kilbee	76		24		211		11		19.18
	. 70		24		211		11		17.10

PII	hlic	School	Cricket	in 1963	
iu	DILL	Delloui	Citchet	111 1700	

#### KING'S SCHOOL, ELY

Played 12, Won 1, Lost 4, Drawn 7, Abandoned 1

Batting									
Conduct A Control of the Control of	Innings	Not outs			Runs Highest inns.			ns.	Average
P. K. Hamel-Cooke	9		5		123		29		30.75
P. R. Gardner	12		1		265		62*		24.09
A. D. B. Wright	12		3		176		65*		19.55
J. S. Cooper	12		Ö		223		40		18.58
M. C. Harrison	11		Ö		180		45	-	16.36
P. L. Sell	11		Õ		169		31		15.36
D. J. Warren	11		0		155		47		
	12		1					• •	14.09
†F. A. Spence	12		1		132		33		12,00
Danillan									
Bowling	_				_				
	Overs	M	aiden	S	Runs	M	Vickets		Average
A. D. B. Wright	162		39		445		28		15.89
P. R. Gardner	166.1		36		558		24		23.25

#### KING'S SCHOOL, MACCLESFIELD

Played 16, Won 9, Drawn 7, Abandoned 4

Batting									
	Innings	N	ot ou	ts	Runs	Hig	hest in	nns.	Average
H. G. Thomas	16		3		462		90		35.53
R. E. S. Green	14		5		238		42		26.44
J. R. A. Cragg			1		271		79		20.84
			1						
H. D. Fairhurst	13		3		135		28		13.50
Bowling									
Downing	Overs	M	aiden	IS	Runs	V	Vickets		Average
J. O. P. Wilson	125.4		26		304		32		9.50
J. A. Oldham		• •	31		380		24		15.83
									16.85
M. J. Lock			31		354		21		
R. E. S. Green	120		17		487		21		23.19

#### KING'S SCHOOL, ROCHESTER

Played 11, Won 5, Lost 6, Abandoned 1

Batting									
THE STREET STREET	Innings	Not outs			Runs	Hig	hest in	Average	
R. I. Bower	. 10		4		140		31		23.33
J. M. Thackray	. 8		0		135		48		16.87
P. W. B. Coulson			1		160		38		16.00
P. C. S. Wetherell	. 11		0		169		37		15.36
†C. R. Godfrey			2		119		37		13.22
R. S. Funnell			0		102		28		9.27
Bowling									
and a second	Overs	M	aider	IS	Runs	V	Vickets	S	Average
R. I. Bower	. 175.3		34		471		37		12.72
M. Chick	. 137.5		27		376		21		17.90

#### KINGSWOOD SCHOOL

Played 12, Won 8, Lost 3, Drawn 1

Batting	Innings	No	t outs	Runs	Hig	nns.	Average		
†J. W. Robson			3		198		38		24.75
G. D. Damerell			2		155		55		17.22
R. Beetham			1		154		29		17.11
W. J. Gibbs			1 .		160		35		15.70
D. Badcock	. 11		1		15/		39		13.70

Bowling	Overs	M	aidens		Runs	V	Vickets	Average
D. H. Copley	78		24		167 225		20 24	 8.35 9.37
J. W. Robson M. H. Crosby	98 171.1		23 35	::	423	::	33	 12.81
R. Beetham	128.4		25		306		19	 16.10

#### LANCASTER ROYAL GRAMMAR SCHOOL

Played 14, Won 4, Lost 4, Drawn 6

R. B. Westley D. Pattinson †K. O. Beeston S. K. Higgins N. J. Holland H. Thomas	. 14 . 13 . 14 . 13	N	ot ou 1 0 1 0 1	ts  	Runs 392 419 209 232 190 181	High	85 81 46 50 83* 39	ns.	Average 30.15 29.93 17.42 16.57 15.83 12.93
Bowling	0	M	aiden	c	Runs	V	ickets		Average
R. J. Wortlev	Overs . 79		25		150		19		7.89
R. J. Wortley	. 79				150 123		19 13		7.89 9.46
N. J. Bather	. 79 . 54.4		25		150 123 199		19 13 18		7.89 9.46 11.05
N. J. Bather J. S. H. Fitton	. 79 . 54.4 . 89.1		25 14	D::	150 123 199 364		19 13 18 27		7.89 9.46 11.05 13.48
N. J. Bather	. 79 . 54.4 . 89.1 . 174.5		25 14 30		150 123 199 364 246		19 13 18 27 14		7.89 9.46 11.05 13.48 17.57
N. J. Bather J. S. H. Fitton R. B. Westley	. 79 . 54.4 . 89.1 . 174.5 . 100.1		25 14 30 57		150 123 199 364		19 13 18 27		7.89 9.46 11.05 13.48

## LANCING COLLEGE

Played 14, Won 5, Lost 3, Drawn 6, Abandoned 1

Batting	10000000				n .	TT:-1			A	
	Innings	No	ot ou	ts	Runs	High	hest in	ns.	Average	
P. E. Goodwin	8		5		131		45*		43.66	
S. A. S. Williams			5		277		59		39.57	
			4		256		55		32.00	
P. R. Goodwin	4.4		1		356		69		27.38	
R. Martin	14		1				76*.		24.23	
†C. R. Tracey	14		1		315					
D. Hargreaves			2		180		43		22.50	
G. Rush			2		235		56*.		19.58	
	10		0		248		60		19.07	
N. Searls	15									
Bowling					n	77	lickets		Average	
The state of the s	Overs		aiden	S	Runs	M				
P. R. Goodwin	272		123		495		45		11.00	
R. Martin			50		640		34		18.82	
	=====		62		636		29		21.93	
S. A. S. Williams	00.1		19		317		11		28.81	
N. E. H. Upton	93.1		19		317		11		20.01	

## LEEDS GRAMMAR SCHOOL

Played 14, Won 6, Lost 5, Drawn 3

Batting	Innings	No	t ou	ts	Runs	Hig	hest in	ıs.	Average
†P. K. Mason			4		297		80*		37.12
R. W. Elviss	. 14		2		315 256		88* 68		26.25 25.60
P. P. Murphy			2		222	::	54*		20.18
A. J. Dalton			2		126		30		14.00

2c

Batting

_	_	^
1	1	(.)

Bowling

## Public School Cricket in 1963

				LORD WANDSWORTH COI	LLEGE
idens 45	Runs 441	Wickets 42	Average 10.50	Played 13, Won 3, Lost 3, Dra	awn 7

	Overs	M	aiden	IS	Runs	V	Vickets	Average
R. W. Elviss	156.4		45		441		42	10.50
M. Oliver	142		46		393		31	 12.67
M. Clegg	47.4		9		151		11	 13.72
A. J. Dalton	89.1		21		283		20	 14.60
R. Williamson	72		13		267		11	 24.27

#### LEYS SCHOOL, CAMBRIDGE

Played 14, Won 5, Lost 3, Drawn 6, Abandoned 3

1	Batting									
		Innings	N	ot ou	ts	Runs	Hig	hest in	ins.	Average
(	C. S. J. Metcalf	12		6		469		97		78.16
	D. H. R. Hulme			1		403		90		31.00
1	R. J. Royce	12		3		256		48	2	28.44
1	W. R. Shield	13		3		268		56		26.80
1	P. A. H. Symes	. 11		2		176		51		19.55
I	P. Svehlik	13		1		183		54		15.25
1	Bowling									
		Overs	M	laider	ıs	Runs	V	Vickets	S	Average
1	P. A. H. Symes	198		49		514	111	35		14.68
1	R. J. Royce	. 146		29		474		27		17.55
]	. B. Marsh	123		31	2.37	295		14		21.07
J	. T. Crisp	103		27		297		13		22.84
									200	

#### LIVERPOOL COLLEGE

Played 7, Lost 3, Drawn 4

Batting									
E. D. Williams	7		ot out 1 0 0	 	Runs 186 199 178	Hig	thest in 76* 103 48	::	Average 32.00 28.42 24.52
Bowling	256								
	Overs	M	aiden	S	Runs	V	Vickets		Average
A. R. Jackson	49.4		15		106		7		15.14
E. D. Williams	83		34		160		9		17.77
J. B. Walker			19		178		9		19.77

#### LLANDOVERY COLLEGE

Played 11, Won 2, Lost 7, Drawn 2, Abandoned 4

Batting									
	Innings	N	ot ou	ts	Runs	Hig	hest in	ns.	Average
†T. W. O'Brien	14		1		247		56		19.00
D. Bowen			2		149	7	36		12.41
W. D. A. Lloyd			0		107		34		8.91
D. G. Griffiths			1		108		22*		8.30
Bowling									
	Overs	M	aiden	S	Runs	W	lickets		Average
T. W. O'Brien	144.1		14		424		48		8.83
D. Bowen			31		388		33		11.75
J. O. Pritchard			26		283		21		13.47
W. D. A. Lloyd	60.1		9		146		10		14.60

Batting		ot out		Hig	hest in	ns.	Average
D. W. Philp	. 9	 1	 256		60		32.00
†J. D. McHardy	13	 0	342		70		26.30
W. A. B. Dance	11	 2	 175		60		19.44
R. K. Trigg	9	 0	 161		41		17.88
S. M. McDouall	11	 1	 166		29		16.60
D. E. Preece	13	 1	 125		51*		10.41
Rowling							

Public School Cricket in 1963

771

# Bowling Overs Maidens Runs Wickets Average W. A. B. Dance 37.4 .8 125 .12 .10.41 S. M. McDouall 185.5 .45 .493 .30 .16.43 E. D. Hollows .84 .16 .268 .11 .24.36

#### LORETTO

Played 15, Won 6, Lost 3, Drawn 6

	, ,								
Batting									
	Innings	N	ot ou	ts	Runs	Hig	hest in	ns.	Average
S. P. A. Barker	14		4		266		57*		26.60
†W. I. Nicholson	14		1		340		60		26.15
J. N. Mackinlay	14		2		257		37		21.41
S. H. Haigh	13		3		177		61		17.70
C. J. G. Wykes	11		1		154		62*		15.40
A. K. McLeod	10		2		118		30		14.75
n 1:									
Bowling									
	Overs	M	aider	IS	Runs	M	lickets		Average
M. L. L. McNeill	167.1		52		239		27	by train	8.85
C. J. G. Wykes	84.1		30		171		19		9.00
A. W. Ritchie	155.2		55		337		- 33		10.21
C. Goodwille	71.3		20		181		17		10.64
A. K. McLeod	168.1		69		258		24		10.75

#### MAGDALEN COLLEGE SCHOOL, OXFORD

Played 14, Won 3, Lost 4, Drawn 7, Abandoned 1

Batting									
	Innings	No	ot out	S	Runs	Hig	hest in	ns.	Average
P. B. Smith	15		5		633		133*		63.30
S. J. Manners	14		2		276		59*		23.00
J. C. Hancock	15		4		237		59		21.54
W. Morris	14		0		247		66		17.64
†T. S. Tayler	12		2		195		42		19.50
Bowling									
and the same of th	Overs	M	aiden	S	Runs	V	Vickets		Average
P. B. Smith			43		791		47		16.82
J. C. Hancock	108.2		25		342		20		17.10
R. A. Boulger	77		12	٠	286		13		22.00

#### MALVERN COLLEGE

Played 13, Won 5, Lost 3, Drawn 5, Abandoned 1

Batting	, , , , , , , , , , , , , , , , , , , ,					
	nings No	toute	Pune	High	hest inns.	Average
1111	ings 140	touts		1115		
R. W. Tolchard	15	2	 578		121*	44.46
D. Bailey	15	1	 570		124*	40.71
C. M. Irvine	10	3	 145		37*	20.71

Batting

Public	School	Cricket	in 1963
I uone	School	Cricker	111 1703

T. G. Hardie	15 15		ot out		297 213		44 50*		Average 19.80 19.36
W. D. de B. Barnard Bowling	10	• •	0	vi.	184	••	40		18.40
OT.	Overs	M	aiden	S	Runs	V	lickets		Average
C. M. Irvine	129		26		340		22		15.45
D. W. G. McBain			47		429		26	1 11	16.50
R. P. Imray	125.4		36		327		16	800	20.43

# 340

20.43 30.90

#### MANCHESTER GRAMMAR SCHOOL

#### Played 20, Won 2, Lost 8, Drawn 10

Batting									
	Innings	No	ot ou	ts	Runs	Hig	hest in	ns.	Average
†R. A. Swann	20		1		455		82*		23.94
R. D. B. Hoggard	17		0		286		59		16.82
D. B. Adams	. 8		2	015	100		27*		16.66
I. A. Wilson	18		ō		204		40		11.33
H. Gott			Ö		144		39		11.07
P. J. Brooks	19		2		181	••	63		10.64
T. N. Stanyard			5		142		45*		10.14
P. M. B. Oldham									
F. M. B. Oldham	. 19		0		177		35		9.31
n. P.									
Bowling	_						)		
	Overs	M	aider	ıs	Runs	V	Vickets		Average
T. N. Stanyard	85		24		208		20		10.40
K. N. Lingard	. 266		65		631		42		15.02
B. Lees			35		393		23		17.08
R. Stacey	. 87		20		282		14	airia	20.14
M. N. Cohen	62.1		12		206		10		20.60
R. D. B. Hoggard			11		251		10	00	25.10
2. 2. 1. 1. 055 ard	. 07.1		11		201		10		20.10

#### MARLBOROUGH COLLEGE

#### Played 14, Won 4, Lost 7, Drawn 3, Abandoned 1

batting										
12 15 57	Innings	No	ot ou	ts	Runs	Hig	hest in	ns.	Average	
†C. D. A. Martin-Jenkins			2		339		99		30.81	
P. B. Brooks			1		421		71		26.31	
A. J. Coote	17		1		386		122*		24.12	
D. R. Walsh			2		274		62		21.07	
M. J. S. Turner	17		õ	116	312		56		18.35	
N. R. Parkinson			2		193		44*		17.54	
									17.20	
A. F. McNab			1		172		39			
T. P. J. Halford	15		2		189		42*		14.53	
Bowling										
	Overs	M	aider	is .	Runs	V	Vickets		Average	
N. R. Parkinson	152.3		55	100	353	E   108	31		11.38	
D. R. Walsh	145.4		26		455		29		15.68	
A. J. Coote			26		312		17		18.34	
P. T. Hosier			21		278		13		21.38	
N. O. Barak		• •	17		370		17		21.70	
C. C. Bell			35		365		14		26.07	

#### MERCHANT TAYLORS' SCHOOL, CROSBY

The school team beat all their eight school opponents, owing much to the left handed J. R. Norris who was in outstanding batting form from the middle of June to the end of the season.

#### Played 13, Won 9, Lost 1, Drawn 3

Batting									
	Innings	No	ot out	ts	Runs	Hig	hest in	ins	Average
J. R. Norris	. 13		3		625		104		62.50
J. A. Chellingworth	. 8		2		165		56		27.50
M. D. R. Williams			3		157		50		19.62
C. R. Williams			0	37	203		30		15.61
F. V. Gardner			0		145		50		11.15
11 11 0000									
Bowling									
bouring	Overs	M	aiden	S	Runs	1	Vicket	S	Average
†B. V. Carpenter			50		411		33		12.45
J. A. Chellingworth			45		365		29		12.58
R. P. Cox			36	34	275		18		15.27
					A CONTRACTOR OF THE PARTY OF TH				4 - 4 -
C. R. Williams	. 146.1		39		356		23	7.11	15.47

## MERCHANT TAYLORS' SCHOOL, NORTHWOOD

#### Played 16, Won 7, Lost 6, Drawn 3, Abandoned 2

Batting									
Datting	Innings	N	ot ou	ts	Runs	Hig	hest in	ns.	Average
†D. H. Cameron	11		2		318		61		26.50
P. C. Bradbury			4		146		77*		24.33
P. R. Cameron			2		307		46		23.61
J. M. D. Grimsdick			2		272		48		20.92
G. W. Smith	14		4		167		44*		16.70
A. P. Williams	13		0		186		53		14.30
P. D. Newfield	13		3		114		27*		11.40
M. I. C. Johnson	14		1		138		36*		10.61
1200									
Bowling	Calle				-	**	7. 7 .		E.C. I. I.
	Overs	M	aiden	S	Runs	V	Vickets		Average
P. R. Cameron			26		155		15		10.33
M. J. Hulbert	100.2		29		221		17		13.00
J. M. H. Grimsdick			57		620		40		15.50
M. I. C. Johnson			39		250		15		16.66
J. R. Dromard	200		60		422		25		16.88

#### MERCHISTON CASTLE SCHOOL

## Played 12, Won 5, Lost 2, Drawn 5, Abandoned 2

Batting									
	Innings	No	t ou	ts	Runs	Hig	hest inn	S.	Average
R. H. Webster	16		2		493		87*		35.21
D. C. Morton			1		418		91		27.86
S. L. Briggs	11		1		220		43		22.00
K. A. R. Brown	10	•	3		130		32*		18.57
J. I. Fordwood	7		1		107		41		17.83
M. P. N. Tulloch	12		5		117		34*		16.71
A. E. Corstorphine	12		2		124		33*		12.40
A. T. C. Lockhart	12		2		130		33		11.81
a. I. C. Lockhart	13		4		100		23		11.01

Public Se	chool (	Cricket	in	1963
-----------	---------	---------	----	------

Bowling							
	Overs	laider	Runs	V	Vicket	S	Average
K. A. R. Brown	67	 10	 234		18		13.00
D. C. Morton	184.5	 36	 457		34		13.44
M. A. J. Thom	184.1	 48	 436		30		14.53
J. A. Smith	217	 55	 546		36		15.16
J. I. Fordwood	83	 11	 256		11		23.27

#### MILL HILL SCHOOL

#### Played 10, Won 2, Lost 4, Drawn 4

Batting  †A. W. Dyer C. T. B. Allen E. J. Black J. L. Howe	Innings 10 10 10 8	N 	ot ou 0 3 0	its	Runs 364 144 182 114	Hig	hest ir 96 36* 44 22	nns.	Average 36.40 20.57 18.20 14.25
								13031	17.23
Bowling									
	Overs	M	laider	18	Runs	V	Vickets	3	Average
D. R. Crafts	157.5		50		371		14		26.50
P. R. Wakeham	105		27		266		10		26.60
Q. R. Aylward	106.4		22		359		12		29.91
A. W. M. Mills			14		351		11		31.90

#### MILLFIELD SCHOOL

Millfield's wins included one against Marlborough in the first match between the two schools. King's (Taunton), Oundle, Wellingborough and Bedford Modern were also beaten.

#### Played 18, Won 13, Drawn 5

Batting									
	Innings	N	ot ou	ts	Runs	Hig	hest in	ins.	Average
†R. K. Paull	18		8		1009		114*		100.90
A. G. Dunlop	14		4		477		87*		47.70
K. P. McAdam	15		0		583		157		38.86
I. P. Young		'	3		256		49		19.69
R. F. Clark	15		2		215		61		16.53
T. J. D. Holmes	13		3		165		40		16.50
Bowling	0			7.7	D	**	7. 1 .		A
	Overs	IVI	aiden	IS	Runs	V	Vickets	;	Average
A. A. Cook	180.1		52		446		42		10.85
H. M. E. Adams	284.1		77		744		62		12.00
R. K. Paull	86.5		16		258		19		13.57
C. R. Jacobs	49.4		11		142		10		14.20
M. Z. Khan	77		12		265		17		15.58

#### MONKTON COMBE SCHOOL

The young openers, J. R. Bennett and P. Virley, had a school record opening stand of 116 against Dean Close.

#### Played 9, Won 2, Lost 4, Drawn 3, Abandoned 4

Batting	Innings	No	ot out	S	Runs	Hig	hest inns	· ·	Average
J. R. Bennett							66 .		26.00
P. Virley					243		57 .		22.09
M. W. Green							29 .		13.00
P. J. W. Lewis-Jones					105		47 .		11.66
D. H. S. Brisker			1				28 .		11.55
†P. D. L. Lemon	11		0		123		40 .		11.10

Bowling	Overs	M	aiden	S	Runs	W	lickets	,	Average
P. D. L. Lemon	49		10		166		11		15.09
p. H. S. Brisker			32		241		15		16.06
P. J. W. Lewis-Jones	77.3		20		279		17		16.41
A. R. Mayes	102		36		252		14		18.00
M. W. Green	66		5		276		10		27.60

#### NAUTICAL COLLEGE, PANGBOURNE

Played 14, Won 4, Lost 4, Drawn 6, Abandoned 1

Batting	Innings	No	t ou	ts	Runs	High	hest in	ns.	Average
†P. L. Byrne	16		3		567		112*		43.61 20.00
R. D. Brown	17 17	• •	2	::	340 234		75 35	::	15.60
G.I. M. Cockburn A. D. Shanks	13 17		1	• • •	178 205		56* 30	• •	14.83 13.56
T.R. Woolley	16		Ô		166		26		10.37
H. C. F. Howard R. C. Lane-Nott	14 14		4		128 90		24 21		9.84 9.00
Bowling	0520					**	,, 1		
P. L. Byrne	Overs 155	M	aider 24	18	Runs 497		lickets 30		Average 16.56
R. D. Brown	169.2		43		520 274	•••	26 12	::	20.00 22.83
0. 5. DIOWIL	00				-,,				

### NEWCASTLE ROYAL GRAMMAR SCHOOL

Played 18, Won 5, Lost 2, Drawn 11

Batting	Innings	No	ot ou	ts	Runs	Hig	hest inns	. Average
†K. W. Nixon			3	7	592		110 .	. 39.46
I. W. Cheyne			5		287		69 .	. 31.88
M. R. Barlow	15		0		289		56 .	. 19.26
J. G. Gibson			1		263		80* .	. 17.53
T.J. Linton			3		252		53* .	. 16.80
P. Robinson	. 16		0		213		51 .	. 13.31
N. Fairbairn			6		105		37* .	. 13.12
Bowling					nord C			
22 11 11 11 11 11 11 11 11	Overs	M	aider	S	Runs	1	Vickets	Average
H. M. Dyson	. 245.4		88		487			. 9.01
A. Boullemier	. 95.4		24		226			. 15.06
K. W. Nixon	. 80		21		247			. 17.64
A. J. Coulson			42		305		17 .	. 17.94

#### NOTTINGHAM HIGH SCHOOL

P. D. Johnson was in such grand bowling form that he took his total of wickets in two seasons beyond 100.

Played 19, Won 8, Lost 5, Drawn 6, Abandoned 2

Batting								
	Innings	No	ot ou	ts	Runs	Hig	hest inns.	Average
A. B. Palfreman			3		487		116	37.46
†D. C. Haywood			5		447	2.6.1	78*	34.38
D. C. Haywood	18		1		283		66*	16.64
P. S. Harvey	11		1	• • •	147		34	14.70
G. M. Owens	11		1		237		44	13.94
P. A. Warsop	18		1				29	13.66
P. H. Moody	16		1		205			
M. W. Anthony	16		2		170		46	12.14

Bowling	Overs	M	aiden	ıs	Runs	v	Vicket	S	Average
P. D. Johnson	225.1		31		742		63		11.77
G. M. Owens	132		29		393		27		14.55
A. B. Palfreman	188.2		46		522		30		17.40
M. G. Taylor	70.3		6		221		10		22.10

#### OAKHAM SCHOOL

#### Played 16, Won 6, Lost 6, Drawn 4

Batting	.,,		, _		,				
	Innings	N	ot ou	te	Runs	High	hest in	ne	Average
A. P. Barber	14		4		267	_	52*		26.70
			7						
†J. P. Simmonds	16		3		340		65		26.15
I. A. Bradshaw	16		1		299		81*		19.93
W. F. Whysall	16		1		265		58		17.66
S. Billyeald	16		0		281		48		17.56
M. J. Lee	16		1		256		31		17.06
R. P. Lodge	13		0		185		51		14.23
Bowling									
Dowling	Overs	M	aiden	IS	Runs	W	lickets		Average
J. T. Clarke	149.1		34		306		23		13.30
M. W. M. Smith	220.4		52		570		40		14.25
R. P. Lodge	129.4		39		298		18		16.55
J. P. Simmonds	170		25		569		31		18.35
E. C. Norton	58.5	/	11		209		10		20.90

#### THE ORATORY SCHOOL

The Oratory were unbeaten by other schools, winning three matches and drawing four.

Played 14, Won 4, Lost 3, Drawn 7, Abandoned 2

L stey cor 1	1, 11 010 .	,			,				
Batting	- 有世界				Inimal				
	Innings	N	ot ou	ts	Runs	Hig	hest in	ns.	Average
†T. A. Peirce	. 13		3		457		121		45.70
C. C. Cordess	13		0		388		101		29.84
S. P. Daverin			3		231		76		25.66
P. N. Boos	. 11		4		149		28*		21.28
A. C. Lysons			1		126		56*		15.75
Bowling									
	Overs	M	aiden	S	Runs	V	Vickets		Average
T. A. Peirce	. 116.5		41		243		28		8.67
R. C. French			14		266		25		10.64
P. N. Boos			41		359		29		12.37
P. J. W. Evans			12		144		10		14.40
S. P. Daverin			29		313		17		18.41
A. J. Raven			22		261		10		26.10

#### **OUNDLE SCHOOL**

## Played 14, Won 1, Lost 5, Drawn 8, Abandoned 1

Batting	Innings Not outs				Runs	ns.	Average	
J. G. Ramsdale			2		319	 71*		29.00
P. C. Jewell			3		183	 40		26.14
†M. R. Flather			1		316	 80		24.30
D. M. S. Simpson-Brass.			7		136	 26*		22.66 21.00
F. G. Westbrook			1		273	 71		17.08
T. F. W. Atkinson			2		205 180	 50* 34		12.85
R. N. Jones		• •	0		123	 27		10.25
P. J. S. Enderby			0	•••	131	 24		9.35
R. G. Chase	. 17		U	• •	131	 		The second second

Bowling	Overs	M	aidens	Runs	W	lickets	Average
P. C. Jewell	168		40	 497		24	 20.70
T. F. W. Atkinson	97		17	 315		14	 22.50
D. M. S. Simpson-Brass.	243		56	 654		29	 22.55

#### PERSE SCHOOL

In eight innings H. A. L. H. Mumford, a left arm spinner, took four wickets or more, his best bag being seven for 21 in 17 overs against Chigwell School.

Played 16, Won 4, Lost 1, Drawn 11, Abandoned 1

Batting									
	Innings	Not	touts		Runs	High	nest in	ns.	Average
†D. H. J. Baker	17		1		487		96		30.43
H. A. L. H. Mumford	16		0		347		77		21.68
C. H. Oon	17		2		268		54		17.86
T. R. Gamlen	13	273	1		129		29		10.75
N. Parry-Jones	14		3		107		57		9.72
Bowling									
Down	Overs	Ma	idens		Runs	W	ickets		Average
H. A. L. H. Mumford	277	~	05		462	"	51		9.05
H. A. L. H. Mumford M. H. Pitman	277 62	~							
		~	05		462		51	• • • • • • • • • • • • • • • • • • • •	9.05
M. H. Pitman	62	1	05 12	• • •	462 216		51 13	• • • • • • • • • • • • • • • • • • • •	9.05 16.61

#### POCKLINGTON SCHOOL

At the age of fifteen C. Johnson was the team's leading cricketer.

Played 11, Won 3, Lost 1, Drawn 7, Abandoned 1

Batting									
The state of the s	Innings	No	ot out	s	Runs	Hig	hest in	ins.	Average
C. Johnson	11		0		233		39		21.18
H. E. Rose	11		0		206		55		18.72
P. B. Watson	12		3		149		27		16.55
P. L. W. Wood	11		2		140		34		15.55
D. M. Bell	12		0		186		51		15.50
Bowling									
Maria	Overs	M	aiden	S	Runs	V	Vickets	3	Average
C. Johnson	47.5		14		129		12		10.75
†R. M. B. Johnson	157.1		34		399		33		12.09
C. K. Kelly	105		32		242		16		15.12

#### QUEEN ELIZABETH GRAMMAR SCHOOL, WAKEFIELD

Played 13, Won 3, Lost 6, Drawn 3, Tied 1, Abandoned 3

Batting									
76 13 15 15 15 15 15 15 15 15 15 15 15 15 15	Innings	N	ot ou	ts	Runs	High	hest in	ns.	Average
D. Richards	12		1		266		76		24.18
J. W. Hartley	12	7.8	3		188		44	Digital S	20.88
†R. Beardsell	13		2	-	188		38	3277	17.09
P. C. Craven	. 13		1		158		31	Tiels.	13.16
J. C. Wardle	12		0		141		45		11.75
J. D. Lapish	. 13		0		128		35		9.84
Bowling									
Alan I	Overs	M	aider	IS	Runs	V	Vicket	S	Average
R. Beardsell	106.2		30		260		21	110	12.38
J. C. Wardle	. 128.1		25		370		28	00.	13.21
J. W. F. Holt	. 111		26		294		17		17.29

## Public School Cricket in 1963

#### RADLEY COLLEGE

Radley were unbeaten in school matches. R. G. M. Finn scored centuries against Westminster and Sherborne.

#### Played 14, Won 6, Lost 3, Drawn 5, Abandoned 1

Batting									
	Innings	N	ot ou	ts	Runs	Hig	hest in	ns.	Average
R. G. M. Finn	17		4		747		129*		57.46
S. R. Bielby	12		4		278		63*		34.75
C. E. Comins	16		2		476		73		34.00
A. C. G. Eliot		MAL VE	2	ED.L.	301	O Life	63		25.08
†T. E. Macdowel			2		254		53		23.09
C. J. Carline			ō	J.	338		91	• •	21.12
C. G. I. Croft	10		1		170		68		18.88
C. C. I. C. C. I.	10			1	1,0		00		10.00
Bowling									
201131119	Overs	M	aider	ıs	Runs	V	Vickets		Average
R. G. M. Finn			49		410		26		15.76
S. R. Bielby	197.4		57		521		27		19.29
T. G. Macdowel	156.5		34		497		23		21.60
C. G. Thin			35	101	408		17		24.00
C. E. Comins			32		446		13		34.30
C. L. Comilis	133		32		770		13		37.30

#### RATCLIFFE COLLEGE

#### Played 11, Won 5, Lost 2, Drawn 4

Batting	Innings	N	ot ou	te	Runs	Hio	hest ir	ins	Average
W. P. Beeton					312		93		39.00
A. G. Salvatori			0		221		50		22.10
W. Tierney	10	• •	2		106		30		13.25
Bowling									
	Overs	M	aider	IS	Runs	V	Vickets	3	Average
B. J. MacLeish	98.2		17		283		32		8.84
R. S. Fennings-Mills	101.2		18		226		21		10.76
†P. J. Coates	55.4		6		220		16		13.75
W. T. Coates	47		5	M. · ·	190		11		17.27

#### READING SCHOOL

#### Played 14, Won 7, Lost 5, Drawn 2, Abandoned 3

Batting										
Dutting	Innings	No	t out	S	Runs	High	hest in	ns.	Average	
J. A. Scholfield			5		555		76		55.50	
†J. H. Short		100	1	1	224		52		22.40	
G. M. Goddard			4		140		25		23.33	
H. J. Townson			1		210		81		16.15	
C. J. Nealon			0		156		44		11.14	
D. J. Steer			0		150		26		10.00	
Bowling										
Dowling	Overs	M	aiden	S	Runs	W	lickets	3	Average	
H. J. Townson	79.2		26		167		15		11.13	
R. F. B. Orton			18		337		24		14.04	
C. J. Nealon			16	]	385		21		18.33	
M. Jeffries			21		498		22		22.63	

## REPTON SCHOOL

Shrewd captaincy by N. P. Dickson led a young side to an unbeaten record in inter-school matches.

## Played 14, Won 6, Lost 2, Drawn 6

Batting	Innings	No	ot out	ts	Runs	High	est in	ns.	Average
C. E. Walford	11		6		161		42*		32.20
A. C. Borrett	16		7		222		67		24.66
J. A. Ballinger	17		0		389		61	• •	22.88
R. R. Stokes	15		0		328		77	• •	21.86 20.81
C. J. Durnford	17		1		333		72	• •	17.00
†N. P. Dickson	16		1		255 229	• •	41		16.35
C. D. Clifford-Jones	14		0		218	• •	60*		13.62
C. M. Gordon	16		0	• •	210		00		15.02
Bowling									
Douring	Overs	M	aiden	IS	Runs	M	lickets		Average
A. H. Quick	143.4		48		302		26		11.61
J. L. Hutton	193		42		496		39		12.71
C. E. Walford	154.2		41		395		30	• •	13.16
C. M. Gordon	95		21		255		13	• •	19.61 26.25
N. P. Dickson	101.1		18		315		12		20.23

#### ROSSALL SCHOOL

#### Played 13, Won 2, Lost 4, Drawn 7

batting  †A. J. W. Jackson M. C. Wagstaffe R. H. G. Sharp R. O. Henriksen	15 13	N	ot ou 2 1 0 1	ts 	Runs 410 427 209 152	Hig	hest in: 64* 102 56 37*	ns.	Average 31.53 30.50 16.07 13.81	
Bowling  R. H. Hodgson  R. O. Henriksen  M. C. Wagstaffe  R. F. Marriott  R. Spears  R. M. J. Taylor	208.4 95.4 91.5 106	M	17 71 32 20 30 43	15	Runs 165 421 217 279 272 408		Vickets 12 29 14 15 14		Average 13.75 14.51 15.50 18.60 19.42 25.50	

## RUGBY SCHOOL

Rugby played better against Clubs than Schools, among whom only Marlborough was beaten. R. W. A. Bray scored two centuries in May and 94 at Lord's.

## Played 14, Won 5, Lost 3, Drawn 6, Abandoned 2

Batting	Innings	No	t out	S	Runs	Hig	hest in	ns.	Average
†R. W. A. Bray	. 18		1		610		105		35.88
	4.0	LA A	3		474		100		31.60
A. B. Trentham			2		255		74		23.18
N. P. Gray			4		252		62		19.38
R. I. Cranston	. 14		1						
A. S. Harvey	. 15		4		186		32*		16.91
J. I. McDowall			3		132		25		14.66

## Public School Cricket in 1963 ST. DUNSTAN'S COLLEGE

Bowling								
all become automotive and at all	Overs	M	aider	S	Runs	V	Vickets	Average
R. W. A. Bray	52.4		6		138	X0 6	16	8.62
J. R. Paul	183		46		403		24	16.79
J. S. J. Maclehose					754		44	
J. A. Evers	84.2		13		326		15	21.73
P. Dean	234.5		47		648		29	22.34

# In a single day's cricket when St. Dunstan's beat Surrey Colts after a declaration by the latter, 522 runs were scored.

#### RYDAL SCHOOL

## Played 13, Won 4, Lost 4, Drawn 5

Pla	yed 1	5, W	on 9,	Lost	2,	Drawn	4,	Abandoned	1
-----	-------	------	-------	------	----	-------	----	-----------	---

Batting  †R. Q. Rangecroft C. J. Russell P. M. Hutton C. Loney G. J. R. Green	14 15 12	No	ot out 3 1 2 2 2 2	s  	Runs 479 321 254 187 220	High	76 104* 46 56 48	ns.	Average 39.91 24.69 19.53 18.70 18.33
Bowling  R. M. Powell.  M. W. Mark.  R. K. Fielder.	. 190	M:	aiden 23 48 9	s 	Runs 307 569 352		Vickets 24 26 12		Average 12.79 21.88 29.33

batting									
	Innings	No	ot ou	ts	Runs	Hig	hest in	ns.	Average
M. S. R. Byrne	. 12		5		231		48		33.00
†J. R. Marsden	. 15		3		336		79		28.00
J. H. Roberts			1		367		82*		26.21
I. E. Ferris			3	10	234		50		26.00
C. Underwood			1		351		59		25.07
T. L. Williams		• •	4		149		44*		24.83
1. L. Williams	. 10		7		143		77		24.03
Bowling									
20 ming	Overs	M	aiden	c	Runs	V	lickets		Average
C. G. Cresswell		111	18	.5	165		17		9.70
J. P. Dawson			33		517		41		12.60
T. L. Williams			30		253		18		14.05
H. J. D. Sillito			83		659		38		17.34
D. A. Hardman	79.4		9		294		12		24.50

## ST. EDMUND'S SCHOOL, CANTERBURY

# Played 13, Won 3, Lost 6, Drawn 4, Abandoned 1

CHOOL st 4, Drawn 3	Innir   †H. B. Rainey.	3 1 0	Runs 362 283 169 195 160	Highest inns	36.20 23.58 16.90 16.25 14.54
Runs Highest inns. Average 304 . 55 . 38.00 126 . 53 . 14.00 102 . 29 . 10.20	C. A. Agg	ers Maidens 3.1 37 2 29 5.4 6	Runs 438 371 229	Wickets 28 20 11	Average 15.64 18.55 20.81

## ST. ALBANS SC

## Played 10, Won 3, Lost

Batting	Innings	Not outs	Runs	Highest inns.	Average
R. L. Johns.  †A. J. Webb. C. M. A. Hodge.	10 10	2		55 53 29	38.00 14.00 10.20
Bowling	Overs	Maidens	Runs	Wickets	Average
R. L. Johns	92	23	221	19	11.63
†D. G. Torry †D. F. Hankins	93 53	14	322 148	25	12.88 14.80

## ST. EDWARD'S SCHOOL

## Played 13, Won 4, Lost 1, Drawn 8, Abandoned 4

Batting H. C. Drake. G. D. Hudson. M. J. Hodson. †G. K. Bell. G. M. Townley.	Innings 15 14 13 14 14	No	t out 3 1 2 2 1	s  	Runs 437 423 337 303 200	Highest inns 71 113 101 72 63	Average 36.41 32.53 30.63 25.25 15.38
P. J. Miller	12		3		126	28	14.00
Bowling C. J. Butterworth N. J. A. Kane J. N. C. Easter R. B. Pickford	Overs 175.5 133.1 236 112.4		56 40 59 29	s 	Runs 485 353 658 348	Wickets 29 22 28 10	Average 16.72 16.04 23.50 34.80

#### ST. BEES SCHOOL

#### Played 11, Won 3, Lost 5, Drawn 3

P. F. Thompson	11 11	No	0 1 1 0	 	Runs 264 184 126 124	High	hest in 60 77 48 23	ins.	Average 24.00 18.40 12.60 11.27
P. M. Haywood J. D. G. Crowther E. G. N. Acons	75	M 	aiden 41 16 55	s	Runs 304 205 432	. W	7ickets 29 17 27		Average 10.48 12.05 16.00

#### ST. LAWRENCE COLLEGE

Played 13, Won 5, Lost 3, Drawn 5, Abandoned 2

Batting									
	Innings	N	ot out	S	Runs	Hig	hest inns	s.	Average
D. R. Perfect	. 12		2		328		61*		32.80
M. G. Wallis	. 8		4		115		27*		28.75
G. Reynolds	. 11		2		223		E2		24.77
P. A. B. Priday	. 13		1		274		60		22.83
†A. G. M. Watson	. 11		2		185		11*		20.55
C. F. M. Day	. 11		2		169		20		18.77
R. J. Woolmer		٠.,	1		171		56		15.55
Bowling									
	Overs	N	faiden	S	Runs	V	Vickets		Average
M. G. Wallis	. 175		53		424		22		12.84
J. Nagenda			29	DE	326	1	22		14.81
A. G. M. Watson	138.1		33		337		16		21.06

#### ST. PAUL'S SCHOOL

Played 13, Won 2, Lost 8, Drawn 3, Abandoned 1

Batting									
	Innings	N	ot ou	ts	Runs	Hig	hest in	ıns.	Average
†R. S. Baldock	12		1		298		90*		27.09
J. H. M. East	13		0		293		68		22.53
J. M. Shneerson	8		0		145		74		18.12
P. W. Neate	13		2		182		35		16.54
D. Austen	13		4		132		46*		14.66
Bowling									
700	Overs	M	aider	IS	Runs	V	Vickets		Average
P. W. Neate	149.5		38		444		24		18.50
D. Austen	173.3		38	1	421		22		19.13
A. P. Moir	152		38		444		22		20.18

#### ST. PETER'S SCHOOL, YORK

T. C. Mitchell and P. F. Nettleton shared a record unbroken stand of 272 for the second wicket against Worksop College. St. Peter's played Sedbergh School for the first time and lost the initial match.

Played 14, Won 6, Lost 3, Drawn 5, Abandoned 2

Batting									
	Innings	N	ot ou	ts	Runs	Hig	hest in	ns.	Average
T. C. Mitchell	16		1		480		149*		32.00
P. F. Nettleton	16		2		384		111*		27.42
J. A. Eatough	11		1		207		53		20.70
R. D. Harding	11		4		130		24		18.57
T. J. Haggie	15		0		269		59		17.93
J. J. Vooght	13		4		124		42		13.77
G. W. Cloughton	15		0		161		56		10.73
J. D. Carr	15		1		142		61		10.14
Bowling									
	Overs	M	aiden	S	Runs	V	Vickets		Average
P. F. Nettleton	107		16		368		25		14.72
J. R. Rowbottom	80		23		217		14		15.50
J. D. Carr	180		35		454		26		17.46
R. W. Metcalfe	162.4		38		492		28		17.57
†J. L. Richardson	115.5		21		362		17		21.29

#### SEBRIGHT SCHOOL

Played 14, Won 1, Lost 3, Drawn 10, Abandoned 1

Batting  †S. G. Mills	13	No	ot out 4 0 2 1	s 	Runs 187 136 155 169	High	33* 56 40* 75*	ns.	Average 20.77 15.11 14.09 13.00
Bowling  G. I. Palmer P. D. Markwick-Smith K. J. F. Price	94	M 	aiden 47 14 22	s 	Runs 353 264 385	 	Vickets 38 24 27		Average 9.28 11.00 14.25

#### SEDBERGH SCHOOL

Played 12, Won 5, Lost 4, Drawn 3, Abandoned 2

Batting  A. K. Bruce-Lockhart J. C. Murtland I. G. Macpherson R. M. B. Hollinshead	Innings 13 13 12 13	No	ot ou 3 0 3 0	ts  	Runs 422 291 155 181	Hig	hest in 72* 70 34* 41	ns.	Average 42.20 22.38 17.22 13.92
Bowling  C. M. Russam A. K. Bruce-Lockhart I. R. Thompson N. K. Martyn	87.5	M 	35 24 17 37	 	Runs 303 317 207 308	 	Vickets 30 26 15 14		Average 10.10 12.19 13.86 22.00

#### SEVENOAKS SCHOOL

Played 11, Won 6, Lost 3, Drawn 2, Abandoned 2

Batting									
	Innings	No	t out	S	Runs	High	nest in	ns.	Average
†A. J. H. Martin	12		1		314		94		28.54
J. W. B. Parkin	8		1		143		56		20.42
T. A. McGavin	11		1		192		53		19.20
Z. A. Chaudhri	10		Ô		176		54		17.60
R. W. Palmer-Jones	9	::	Ö		157		45		17.44
K. J. Vizard	12		3		124		34		13.77
J. R. Symes	11		1		124		46		12.40
or R. Symes									
Bowling									
20 Willing	Overs	M	aiden	S	Runs	W	lickets		Average
R. J. Ham	81		21		262		21		12.47
J. R. Symes			32		389	-	27		14.40
K. J. Vizard			42		327		21		15.57
J. M. Woodhead	82	• •	25		207		13		15.92
of the woodification of	02								

#### SHERBORNE SCHOOL

Played 9, Won 3, Lost 4, Drawn 2, Abandoned 2

Batting	Innings	No	t out	s	Runs	Hig	hest in	ins.	Average
R. C. Constant			2		293		81*		36.62
†T. W. Marshall	. 10		1		150		50		16.66
N. J. Scotland			0		114		38		11.40

Public Sch	nool Cric	ket in	1963
------------	-----------	--------	------

-				
Bo	w	п	m	O
200			•	

Ratting

- I Manual Supplier of the	Overs	M	aider	ıs	Runs	W	Vickets	Average
N. J. Scotland	141.1		39		331		25	 13 24
A. D. M. Gray	162.2		35		393		27	11 55
S. F. W. Moore	75.2		15		240		15	16.00
D. M. Moss	75.5		15		218		10	 21.80

#### SHREWSBURY SCHOOL

Played 12, Won 3, Lost 4, Drawn 5, Abandoned 1

Batting									
ALBERTA SE	Innings	N	ot out	S	Runs	Hig	hest in	ins.	Average
†P. J. Renshaw	15		2		575		107*		44.23
J. T. G. Butler	14		2		314		83		26.16
A. J. E. Pugh	15		0		384		82		25.60
A. J. M. Walls	15		1	100	319		75*		22.78
R. S. T. Ferro	12		1	1.7	159		35		14.45
P. J. Stewart	13		3		133		32		13.30
W. B. Walker	15		1		183		45		13.07
Bowling									
	Overs	M	aidens		Runs	V	lickets		Average
S. B. W. Brunskill	160.5		48		407		29		14.03
A. J. E. Pugh	175.1		50		504		34		14.82
G. B. Kendrew	246.3		69		659		42		15.69
G. A. Hobson	64		11		260		15		17.33
2 / 2 / 2 / 2 / 2 / 2 / 2 / 2 / 2 / 2 /					200		10		11,33

#### STAMFORD SCHOOL

Played 9, Won 2, Lost 2, Drawn 5, Abandoned 3

Batting									
	Innings	N	ot ou	ts	Runs	Hig	hest in	ans.	Average
C. A. Richardson	10		2		454		95		56.75
P. J. Furness	11		1		336		64		33.60
G. Holmes	10		4		106		26		17.66
S. R. Gash	10		0		104		26	1.	10.40
Bowling									
	Overs	M	aiden	IS	Runs	V	Vickets	S	Average
M. G. Hoskins	123		24		408		26		15.69
D. R. Bond	92.3		25		276		15		18.40
D. J. G. Bower	105		17		359		13		27.61

#### STOCKPORT GRAMMAR SCHOOL

Played 9, Won 4, Lost 3, Drawn 2, Abandoned 2

J. L. Salt	7	::	ot out 2 3 0	011	Runs 224 78 153	High	hest in 60* 27* 37	ns.	Average 32.00 19.50 19.12
Bowling G. R. Torkington. J. G. Bissenden. R. S. Graham.	58.1	M 	aiden 28 12 24	s 	Runs 164 162 163	 	Vickets 24 16 14		Average 6.83 10.12 11.64

#### STOWE SCHOOL

Played 16, Won 2, Lost 10, Drawn 4

†C. P. Murphy. R. N. Goodchild. A. G. Fyfe. C. J. T. Vane. D. W. J. Garrett. J. P. Gronow. R. S. D. Johnson.	Innings 17 17 13 12 16 13 14	No	ot out 2 2 1 3 3 3 0	ts	Runs 545 545 277 120 168 125 166	Hig	thest in 100 166 103* 32 31 45* 63	ns.	Average 36.33 36.33 23.08 13.33 12.92 12.50 11.85
Bowling  M. W. G. Fisher R. S. D. Johnson C. J. T. Vane	Overs 342.5 171.2 252	м 	0 aiden 77 28 39	is	Runs 1025 620 915		35 Wickets 54 25 33		10.66 Average 18.98 24.80 27.72

#### STRATHALLAN SCHOOL

Strathallan's captain, A. J. Harvey-Walker, contributed largely to the School's best ever season. While scoring 139 against Merchiston and 179 not out against Glenalmond he reached 100 before lunch on each occasion. Of ten inter-school matches nine were won and the other, against Loretto, was drawn. A. J. Fleming's 62 wickets were a school record.

#### Played 16, Won 13, Lost 1, Drawn 2

Batting	926				D	TTio	hest in	20	Average
	Innings	N	ot out	S	Runs	Lif		115.	
†A. J. Harvey-Walker	14		3		605		179*		55.00
W. S. Pate	14		4		299		56*		29.90
	14		1		306		101*		23.53
D. J. S. Currie			1				61	-	22.90
D. R. Anderson	12		1		252				
D. N. Strachan	10		1		170		66		18.88
A, J. Sloan	7	27	1		104		27		17.33
A. J. Diodii	725								
Bowling	_				D	7	Vickets		Average
	Overs	M	aiden	S	Runs				
A. R. Bucher	133.5		45		189		31		6.09
A. J. Fleming	177.3		50		390		62		6.29
			32		294		32		9.18
A. J. Harvey-Walker	120.4		-				12		14.33
W. S. Pate	62.1		11		172		12		14.33

#### SUTTON VALENCE SCHOOL

Played 11, Won 5, Lost 6, Abandoned 1

R. Memmott	11 11 10	No	0 0 0 0 2 1	:s  	Runs 243 201 166 118 107	Hig	hest inr 65 39 64 62 25*	ns	Average 22.09 18.27 15.09 14.75 10.70
Bowling H. L. Evans N. P. Watkins R. V. Cant M. E. King	. 32	M 	aiden 36 5 25 11	s 	Runs 345 126 325 256	 	Vickets 31 10 15 11		Average 11.12 12.60 21.66 23.27

Batting

#### TAUNTON SCHOOL

Played 1	0, Won	1, Lost 4,	Drawn 5,	Abandoned 2
----------	--------	------------	----------	-------------

Batting	, ,, ,, ,,,	, Loss i, Diai	,, 2100	andoned 2	
A But One	Innings	Not outs	Runs	Highest inns.	Average
A. B. Sanders	12	1	333	83	30.27
R. J. Parks	- 11	2	240	55	26.66
P. J. C. A. Thomas	11	2	173	50*	19.22
I. C. Pugh	11	0	201	49	18.27
G. N. F. Gregory	9	1	113	44*	14.12
†D. S. Richards	11	1	131	48	13.10
Bowling					
	Overs	Maidens	Runs	Wickets	Average
J. R. Brown	86.1	17	241	15	16.06
T. E. N. Jameson	164.1	33	569	29	19.62
D. S. Richards	169.4	21	593	20	29.65

#### TONBRIDGE SCHOOL

Although starting with only three old colours Tonbridge were unbeaten by any other school for the fourth year running. Strong batting, conspicuously from D. P. Toft and D. R. Aers, was unexpectedly well supported by good bowling. Two young spinners, the left handed Aers and F. J. Whidborne, a leg spinner, were the basis of that strength.

Playe	d 14, Wo	n 6.	Lost 1	. Di	awn 7	Aban	doned 1		
Batting		, ,,		, ~.	.,,,	104111			
	Innings	N	ot outs		Runs	Hig	hest in	ns.	Average
D. R. Aers			2		670		120*		47.85
†D. P. Toft	. 16		4	1.	561		87		46.75
A. H. V. Moneyyis	. 13		3		350		125*		35.00
S. R. Stowell			1		358		90		29.83
D. S. S. Brooks	. 16		1		361		59		24.06
A. W. J. Pitt	. 12		3		193		51*		21.44
D. Bowditch	. 12		4		123		51*		15.37
P1'									
Bowling	0				Ola R				to.
E T 31/1 1 11	Overs	M	aidens		Runs	V	Vickets		Average
F. J. Whidborne			18		237		22		10.77
D. R. Aers			74		47		36		18.52
J. L. K. Rooke			52		527		20		26.35
D. Bowditch			46		347		13		26.69
A. H. V. Moneyyis	. 114		27		330		12		27.50

#### TRENT COLLEGE

#### Played 14, Won 2, Lost 11, Drawn 1, Abandoned 1

Datting									
	Innings	N	ot ou	ts	Runs	Hig	hest in	ns.	Average
M. J. Freebairn	. 14		0		270		91		19.28
†N. C. R. Jones	. 13		1		217		45		18.08
N. R. Scrimshaw			1		234		73*		18.00
C. N. Cullen	. 13		0		228		83		17.53
W. MacB. Harvison			1		174		31		14.50
C. J. Tompkin			1		133		28		11.08
W. R. V. Abell			1		108		43		9.00
Bowling									
	Overs	M	aider	18	Runs	V	lickets		Average
N. C. R. Jones			45		473		27		17.51
W. MacB. Harvison			5		197		11		17.90
T. F. Freebairn			21		374		19		19.68
W. R. V. Abell			11		317		12		26.41
F. A. J. Shelton			29		357		13		27.46
					001				

## TRINITY COLLEGE, GLENALMOND

Played 14, Won 4, Lost 6, Drawn 4, Abandoned 1

Batting D. R. M. James P. G. Roy D. A. I. Ritchie G. A. M. Begg †W. J. Halstead P. J. Murray	15 15	Not outs 3 1 2 1 3 0	Runs 296 160 251 243 205 180	Highest inns 55* . 52* . 57* . 40 . 34* . 64	Average 22.76 20.00 19.30 17.35 17.08 12.85
Bowling P. J. Murray D. J. Greswell J. C. C. Jeffrey	95	Maidens 22	Runs 104 231 310	Wickets 15 12 16	Average 6.93 19.25 19.37

## TRINITY SCHOOL OF JOHN WHITGIFT, CROYDON

Played 12, Won 4, Lost 1, Drawn 7, Abandoned 2

Batting	Innings	Not outs	Runs	Highest inns.	Average
P. C. Etheridge C. R. Showell	12 12 12	1	. 289 . 269	97* 47 70	35.00 32.11 22.41
J. R. Dilworth W. M. Harvey J. D. Coates	7 8 12	$\begin{array}{cccc} \cdot \cdot & 2 & \cdot \\ \cdot \cdot & 1 & \cdot \\ \cdot \cdot & 0 & \cdot \end{array}$	. 171	32	21.20 16.57 14.25
D. B. Staples  Bowling	10	2 .	. 106	29	13.25
M. P. Gorman †J. R. Dilworth †R. Melcio	Overs 186.2 55 128.2		Runs . 431 . 226 . 328	Wickets 32 13 16	Average 13.46 17.38 20.50

## UNIVERSITY COLLEGE SCHOOL

## Played 11, Won 2, Lost 5, Drawn 4, Abandoned 2

H. Sargent	11 10	No	ot out 1 0 0	.s  	Runs 262 234 135 129	High	hest in 84 67 41 41	nns.	Average 26.20 21.27 13.50 12.90
Bowling N. G. Moore C. M. G. Heron		Ma 	aiden 27 21	s 	Runs 386 354	 	Vicket 30 13	s	Average 12.86 27.23

## UPPINGHAM SCHOOL

Uppingham enjoyed a most successful season, notable victories being those over Rugby and the Cambridge Crusaders, and were undefeated in School matches. D. A. Ashworth averaged over 50 for the second successive year and made two centuries.

Played 13, Won 6, Lost 2, Drawn 5

Public	Schoo	1 Cricket	t in 1963	
i uviic	DUILUU	i Crickei	(11 1)00	

Batting	ar (s)	15 30116			
D. A. Ashworth	Innings 16	Not outs	Runs	Highest inns.	Average
B. S. N. Richards	16	4	653 443	123*	54.41 34.07
R. W. Venables	12	3	267	73*	29.66
J. S. Isaac	15	1	338	68	24.14
P. W. M. Rice	14	2	241	60	20.08
†R. G. Taylor	16	0	302	60	18.87
Bowling					
7 A C T	Overs	Maidens	Runs	Wickets	Average
J. N. Wilson	151	34	447	31	14.41
B. S. N. Richards A. R. G. James	90 201.5	32	195	12	16.25
P. W. M. Rice	275	41	672 695	34	19.76 21.06
N. J. A. V. Taylor	153	32	485	20	24.25
TEEL			14		
		A COLLEGE,			
	2, Won 1	, Lost 9, Draw	n 2, Ab	andoned 4	
Batting	Innings	Not outs	Duna	Uighest inne	Avonos
†D. M. Brown		0	Runs 352	Highest inns.	Average 29.33
S. R. Kaderali	10	2	137	58*	17.12
P. F. M. Hanning	11	0	181	51	16.45
A. T. Oldham	10 10	2	118	48*	14.75
W. Gasston		3	101 121	34	14.42 13.44
M. Stayte		ô	100	27	8.33
D1'					
Bowling	Overs	Maidens	Runs	Wickets	Average
P. F. M. Hanning		1	485	23	21.08
R. A. Allen	128	14	475	19	25.00
D. E. W. Smith	95	4	395	10	39.50
WA	LLASEY	GRAMMAI	R SCHO	OOL	
		Won 2, Lost 5			
Batting			,	The second second	
	Innings	Not outs	Runs	Highest inns.	Average
C. E. Bell		0	206	44	17.16
V. W. Knox		0	123	43	11.18 9.25
1.14ajioi	12	0	111	45	9.20
Bowling		The state of the s	et la la	particular to the same of the	and the same of
G. R. Brooks	Overs 62	Maidens	Runs 148	Wickets	Average 11.38
A. H. Johnston		13	411	13	15.80
V. W. Knox		10	395	21	10 00
	****		001		
Dlaned 1		RWICK SCHO			
Batting	+, Won 3	, Lost 7, Draw	on 4, Ab	anaonea 3	
Daning	Innings	Not outs	Runs	Highest inns.	Average
J. S. Seaborn	15	2	388	77*	29.84
V. G. Evans	16	4	301	37	25.08
P. C. Ogden		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	104	47	20.80 16.12
G. S. D. Macdonald D. J. Wankling			129 231	21	15.40
†M. J. B. Chane	14	1	199	42	15.30
G. W. B. Sellar	. 8	0	112	60	14.00
P. G. Round	15	1	119	25	8.50

Bowling	Overs	M	aiden	S	Runs	V	Vickets	Average
C. W. Melly	71		11		264		15	 17.60
P. G. Round			16		307		16	 19.18
G. S. D. Macdonald			23		539		24	 22.45
M. J. B. Chane			20		591		17	 34.76

## WELLINGBOROUGH SCHOOL

Played 13, Won 2, Lost 7, Drawn 4, Abandoned 1

Batting	Innings	No	ot ou	ts	Runs	High	hest in	ns.	Average
P. S. Phillips			1		261		95		21.75
J. S. Axe			1		252		53*		21.00
J. G. Marriott			0		234		46		18.00
D. G. Wood			3		145		41*		16.11
E. C. S. Talbot			1	14.	184		39		15.33
R. J. F. Moore			1		139		26		12.63
†D. J. A. Brown			0		127		34		9.76
Bowling									
	Overs	M	aider	15	Runs	W	Vickets		Average
P. W. B. Ireland	202.4		40		543		35		15.51
J. G. Marriott	107.1		21		376		22		17.09
C. H. Reed			19		407		23		17.69
R. J. F. Moore			28		381		15		25.40

## WELLINGTON COLLEGE

Played 13, Won 3, Lost 5, Drawn 5, Abandoned 1

Batting					n	TT:-1			Avianaga
	Innings	No	ot out	ts	Runs	High	hest in	115.	Average
M. A. K. Austin	. 15		2		437		83		33.61
†G. B. Trentham			2		344		66		28.66
G. A. Lloyd			1		282		70		18.80
			Ô		207		59		15.92
J. R. Windle			õ		144		24*		14.40
A. D. Trembath			2						12.93
R. H. Churton	. 15		0		194		60		
C. M. St. G. Potter	. 15		3		140		29*		11.66
T. J. G. Dyas			0		101		29		10.10
2,0,0,2,00									
Bowling									or Indian
	Overs	M	aiden	IS	Runs	A	Vickets		Average
A. D. Trembath		de de	38		449		27		16.62
			14		259		15		17.26
A. R. Oakley					545		31		17.58
C. M. St. G. Potter			77				14		30.07
K. A. Maby	. 127		18		421		14		30.07

## WELLINGTON SCHOOL, SOMERSET

Played 10, Won 3, Lost 5, Drawn 2

Batting	Innings	No	ot out	S	Runs	Hig	hest in	ns.	Average
*R. Carus			2		160		35		20.00
D. Treadwell	7		2		91		32*		18.20 15.66
G. Baker			0		141		63*		13.62
S. Thould			1		109		19		11 90
R. Britton	. 10		U		117		1)		11.50

PI	blic	Schoo	al Ci	icket	in	1963

## WOODHOUSE GROVE SCHOOL

## Played 12, Won 9, Lost 1, Drawn 2, Abandoned 2

Batting  †J. N. Spence G. M. Baldwin S. W. Ward M. J. Brookes	11 7	N	ot out 5 2 1 1	  Runs 457 225 129 186	High	hest in 116* 66 62 84	ns.	Average 65.28 25.00 21.50 16.90
Bowling D. L. Bull			Taiden 44 10	 Runs 355 87		Vickets 41 10		Average 8.65 8.70
A. Cameron A. P. Baguley D. A. Targe	. 52		14 44	 167 282		16 24		10.43 11.75

## WORCESTER, THE ROYAL GRAMMAR SCHOOL

## Played 16, Won 9, Lost 5, Drawn 2

Batting         R. W. Lewis         †G. J. Weaver         C. J. Archer         D. A. Hind         M. R. Pryce	Innings 15 16 11 16 14	No	ot out:	s  	Runs 348 340 151 262 181	Hig	hest in 94 106* 44 62 39	ns.	Average 31.63 22.66 18.87 16.37 15.08
Bowling  R. P. Starkey  M. G. Stevenson  I. D. Follett  G. J. Weaver	174.3	M  	aidens 11 60 71 68	· · · · · · · · · · · · · · · · · · ·	Runs 72 395 270 456	 	Vickets 11 43 26 37		Average 6.54 9.18 10.38 12.32

## WORKSOP COLLEGE

Good results came from lively, purposeful cricket. C. P. Marks hit four centuries, and the opening attack of A. C. Garton and P. D. Gardner was impressive and effective.

## Played 15, Won 7, Lost 2, Drawn 6, Abandoned 2

Batting C. P. Marks A. Nisbett P. R. Turney C. Diball J. M. Reed †A. C. Garton	15 13 12 11		outs 2 2 3 2 1	Runs 749 405 307 161 153 106	High	hest in 136 91* 68 27 54 25	ns.	Average 74.90 31.15 25.58 17.88 17.00 9.63
Bowling P. D. Gardner K. S. Greenwood *A. C. Garton C. B. Smith	. 110	2	dens 45 37 35	Runs 457 208 381 246	 	Vickets 35 15 27 13		Average 13.05 13.86 14.11 18.92

## 1 wone sender orienter in 1905

Bowling	_						
D 7 111	Overs	laiden	Runs	V	Vicket:	S	Average
B. Jacklin	138	 26	 355		35		10.14
D. Groves	118	 25	 320		29		11.03

#### WESTMINSTER SCHOOL

#### Played 7, Lost 6, Drawn 1, Abandoned 3

Batting								
	Innings	Not out	ts	Runs	Hig	hest in	ins.	Average
R. S. Holliday	12	1		248		63		22.54
†C. de Boer	12	1		189		73		17.18
R. A. Ward	12	0		172		38	eggi	14.33
D. J. Wilson	10	0		115		60		11.50
Bowling								
	Overs	Maiden	S	Runs	V	Vickets	3	Average
R. S. Holliday	104	13		285		12		23.75

#### WHITGIFT SCHOOL

#### Played 9, Won 5, Lost 3, Drawn 1

Batting									
to all the state of the	Innings	N	ot ou	ts	Runs	Hig	hest in	ns.	Average
P. N. Cox	8		2		205		56		34.16
B. T. Allison	9		1		216		57		27.00
†J. R. James			1		184		87		26.28
N. F. M. Tosh	7		2	Later	114		50*		22.80
I. J. Penfold	7		0	103.	142		48		20.28
D 11									
Bowling					and the set				
AND DESCRIPTION OF THE PROPERTY OF THE PROPERT	Overs	M	aiden	IS	Runs	W	lickets	1112	Average
R. J. Powell	71		18		227		17		13.35
N. F. M. Tosh	116.4		32		272		17		16.00
A. I. Lack	93.2		19		274		17		16.11
J. R. James	145.5		43		350		19		18.42

#### WINCHESTER COLLEGE

Winchester suffered from a batting weakness and had a disappointing term in school matches.

#### Played 13, Won 4, Lost 6, Drawn 3, Abandoned 1

Batting								
The state of the s	Innings	N	ot ou	ts	Runs	Hig	hest inns.	Average
N. C. D. Craig	15		1		416		70	29.71
D. G. Pilbrow	14		4		239		54*	23.90
G. R. C. Kingsbury	16		0		312		84	19.50
S. J. Awdry	16		0	2.30	308	1.197	63	19.25
V. C. Awdry	14		2		221		87	18.41
†P. J. R. Scott	16		0		246		47	15.37
Bowling								
	Overs	M	aiden	S	Runs	W	lickets	Average
M. H. Jay	144		32		385		26	14.80
†N. D. Sinker	218.4		68		661		39	16.94
P. J. R. Scott	98.2		13		320		18	17.77
F. W. Hibbert	129.1		27		403		20	20.15

Batting

#### 793

#### WREKIN COLLEGE

Played 20, Won 9, Lost 5, Drawn 6

Innings Not outs Runs Highest inns. Aver	age.
innings Not outs Runs Highest inns. Aver	
A. C. C. Burtt-Jones 21 2 510 90* 26.8	
R. D. J. Burtt-Jones 20 2 391 94* 21.	
J. C. W. Williams 20 0 427 72 21.	
N. D. Little 20 2 369 46 20.	
N. H. Philp 20 0 398 63 19.5	
†C. A. Gerard 20 2 243 32 13.	
D. G. B. Lloyd 15 2 159 37 12.2	
Bowling	
Overs Maidens Runs Wickets Aver	age
C. A. Gerard	
R. G. Kinsey 208 56 510 35 14.	
D. G. B. Lloyd 259 79 571 36 15.8	

#### WYCLIFFE COLLEGE

Played 10, Won 3, Lost 4, Drawn 3, Abandoned 1

Batting	Innings	N	ot out	S	Runs	Hig	hest in	ns.	Average
D. J. Derrington M. J. Sale		::	2		140 110		56 43	•••	17.50 15.71
†R. M. Williams			î		127		51		14.11
Bowling	181								HI A CI
	Overs	M	aidens	5	Runs	V	Vickets		Average
C. L. Rotherham	117.2		32		306		27		11.33
J. L. Evans	89.3		21		219		12		18.25
I.K. Hamilton	88.4		18		272		13		20.92

#### WYGGESTON SCHOOL

Played 12, Won 3, Lost 3, Drawn 6, Abandoned 1

Datting	Innings	No	ot out	S	Runs	High	hest in	ns.	Average
M. P. Naan			2		215		39		21.50
D. R. Tuckerman	. 11		1		200		70*		20.00
P. R. Haywood	. 12		4		160		36*		20.00
†T. G. Pratt	. 11		1		171		66*		17.10
D. R. Elliott	. 9		1		128		35		16.00
P. Conley	. 11		1		152		66		15.20
Bowling		M	aiden	S	Runs	W	ickets		Average
Bowling	Overs	M	aiden 38	s	Runs 311	W	ickets	e) ye	Average 12.95
Bowling D. R. Elliott	Overs . 128.4	M	.,						
Bowling D. R. Elliott R. B. Saunders	Overs . 128.4 . 87.3	M 	38		311		24		12.95 13.42 13.92
Bowling D. R. Elliott	Overs 128.4 87.3	::	38 22		311 282	W	24 21		12.95 13.42

## **PUBLIC SCHOOL MATCHES IN 1963**

For Eton v. Harrow, Beaumont v. Oratory, Clifton v. Tonbridge, Rugby v. Malborough, Cheltenham v. Haileybury, Southern Schools v. The Rest, and Public Schools v. Combined Services, see Other Matches at Lord's.

## CHARTERHOUSE v. ETON

At Charterhouse, June 11. Charterhouse won by 184 runs. The match was remarkable for a fine innings by Illingworth, whose 167 not out revived memories of the 183 not out made by P. B. H. May and the 173 not out by E. J. Craig, also against Eton in previous games. Barker caused a surprising collapse by Eton after they had been 63 for one.

#### Charterhouse

R. M. Baker c Williams b Daniels 28 R. M. Illingworth not out167	J. M. M. Hooper lbw Consett 56 J. N. Coleclough not out 18
A. P. Hopkins b Robins 3 *R. M. C. Gilliat c Best b Robins . 10 A. H. Barker lbw Daniels 2	Extras 9 (5 wkts., dec.) 293
D. M. Drayson, P. W. Gore, †J. O. M. S	Sweet and B. M. L. Coulson did not bat.

Bowling: Pretzlik 11—2—46—0; Consett 8—0—31—1; Pilkington 9—0—56—0; Robins 15—4—46—2; Daniels 17—0—76—2; Braithwaite 2—0—30—0.

#### Eton

N. C. Pretzlik b Barker 0 J. P. W.	son
C. E. Blattiwaite ibw Coulson 10	

Bowling: Illingworth 2—0—7—0; Coulson 11.5—4—23—3; Hopkins 1—0—3—0; Barker 20—7—45—5; Gore 12—5—27—1.

#### HARROW v. WINCHESTER

At Harrow, June 11. Drawn. After capturing three Winchester wickets for 35 in an hour, the Harrow attack faded. Poor ground fielding and several missed catches helped Kingsbury and Craig in their task of recovery. Pilbrow aided Winchester's cause with some hard hitting after the fourth wicket partnership had been broken and Scott declared at 240 for five. Left two and three-quarter hours in which to win, Harrow were given a grand start by Pelham, but once he was out the innings slumped and the match ended quietly in a draw.

#### Winchester

111111111111111111111111111111111111111	
G. R. C. Kingsbury c Prideaux- Brune b Holt	D. G. Pilbrow not out
V. C. Awdry b Blair	Extras 16
*P. J. R. Scott lbw b R. I. Evans . 11 N. C. D. Craig c Holt b Rahman . 70	(5 wkts., dec.) 240

F. W. Hibbert, M. H. Jay, N. D. Sinker, I. Cameron did not bat.

Bowling: Holt 19—6—49—1; Blair 19—8—31—2; R. I. Evans 5—0—26—1; Rahman 22—3—77—1; Cooper 6—0—24—0; Pelham 2—0—17—0.

#### Harrow

*R. J. Pelham st Craig b Sinker	4 3 9
<b>R.</b> I. Evans not out	58

B. G. D. Blair, J. F. P. Cooper, C. A. Holt did not bat.

Bowling: Jay 11—3—16—1; Cameron 7—1—23—0; Sinker 20—8—26—3; V. C. Awdry 9—2—37—1; S. J. Awdry 4—0—23—0; Scott 6—0—12—0; Hibbert 5—2—12—1.

#### WINCHESTER v. ETON

At Winchester, June 28, 29. Drawn, rain ending the match at lunch on the second day. Winchester, sent in, reached the 70's for the loss of only two wickets but collapsed after rain had enlivened the pitch. Robins, left arm slow, caused most trouble and finished with seven wickets for 31 in only 59 deliveries. Eton, too, had their worries, but Braithwaite and Richardson added 56 runs without being parted on the second morning before the Eton captain declared. Then a storm swept the ground.

#### Winchester

G. R. C. Kingsbury c Faber b	M. W. D. Maclagan lbw b Robins 3
Robins	F. W. Hibbert lbw b Robins 2
V. C. Awdry c Braithwaite b	M. H. Jay c Faber b Robins 0
Pilkington	N. D. Sinker st Richardson b
S. J. Awdry c Williams b Consett 17	Robins 0
*P. J. R. Scott lbw b Robins 4	
†N. C. D. Craig not out 16	Extras 8
D. G. Pilbrow b Consett 0	_
R. J. Stewart-Liberty lbw b Robins 1	94
D-1'- D-1'1 10 2 22 0 G	10 5 10 0 D'II 1 10 0

Bowling: Pretzlik 10—3—22—0; Consett 10—5—12—2; Pilkington 10—2—21—1; Robins 9.5—1—31—7.

#### Eton

M. V. C. Williams b Hibbert       40         T. G. W. Best b Sinker       7         D. Calvert-Smith b Scott       23         M. D. T. Faber c Scott b Sinker       5         N. J. Pretzlik c and b Hibbert       3	A. C. Hall lbw b Scott
N. J. Pretzlik c and b Hibbert 3 R. A. Pilkington b Sinker 14	(7 wkts., dec.) 166

J. P. W. P. Consett and G. R. V. Robins did not bat.

Bowling: Jay 6—1—16—0; Stewart-Liberty 4—2—5—0; Sinker 28—8—65—3; Scott 16—3—41—2; Hibbert 12.1—1—27—2.

## SOUTH AFRICAN SCHOOLS IN ENGLAND

By CHARLES BURTON

The first South African Schools side to visit England, sponsored by the South African Nuffield Schools Overseas Cricket Fund, to which Cricket enthusiasts in South Africa and Rhodesia had generously subscribed enjoyed a most successful tour during June and July. The fact that of 21 matches played, ten were won, nine drawn and two lost did scant justice to so formidable a side. Inclement weather was responsible for the drawn games while the two defeats were by the Forty Club, captained by P. B. H. May who had with him four other Test players, R. Benaud, W. R. Endean, D. J. McGlew and A. R. Gover and by a strong Oxford Authentics side in the first match of the tour, played in most dismal weather conditions.

On the other hand, clear cut victories were gained over five Public Schools, Charterhouse, who had trounced Eton the previous week, after declaring at 293 for five, were dismissed for 101 and beaten by six wickets on a drying pitch, Tonbridge were dismissed for 124 and beaten by six wickets; Radley went down by 92 runs after the South Africans had declared 254 for five; Malvern were dismissed for 73 in reply to the South Africans' 222 for eight declared; Wellington, put out for 108, were beaten by six wickets, and, most devastating of all, Winchester were dismissed for 36 and 131 against which the South Africans scored 200 for one—all in one day's cricket! The Canadian Schools were also ruthlessly dealt with at Lord's, being put out for 106 after the South Africans had declared at 274 for five.

In other matches, one particularly impressive performance was against a strong side raised by Mr. R. J. O. Meyer, Headmaster of Millfield School, with H. Gimblett, former England and Somerset batsman as captain and including R. Gilchrist, the West Indian fast bowler. Meyer's side declared at 225 for seven, leaving the South Africans just under three hours to get the runs. Yet the runs were obtained with four wickets and twenty-five minutes to spare. In four matches against County Second Elevens, Hampshire, Lancashire, Warwickshire and Nottinghamshire the South Africans were also seen to good advantage and came near to winning all four. They also had the better of a game against a strong side raised by the Commandant of the Duke of York's Royal Military School, Dover, which included D. J. McGlew and W. R. Endean, and also R. White, the Cambridge Blue.

The touring side proved a well balanced one and moreover had a purposeful approach to the game. The batsmen were always looking for runs, the captain, B. A. Richards (Durban High School) who had already earned high praise for his brilliant performances in South Africa the previous winter, was almost in a class of his own, two memorable innings being 106 (one 6 and nine 4's) in an hour and fifty-one minutes against Eton, and 79 (one 6 and eleven 4's) in seventy-six minutes against Hampshire II. The vice-captain, 16-year-old M. J. Proctor (Hilton College), also looked a batsman with a big future, being at his best when his side were in trouble (a rare occasion). Thus against Radley, going in with four wickets down for only 46 runs, he hit 148 (100 of which were in boundaries) in two and quarter hours, while against Notts II at Trent Bridge, with the first three wickets down for only 9, Proctor proceeded to score 130 not including twenty 4's in three hours, ten minutes. Most of the others players were good batsmen while G. Watson (Potchefstroom Boys H.S.) proved himself a powerful hitter. He sent three balls out of the ground against the M.C.C. Young Professionals, and finished the match against Meyer's XI with three 6's into the adjoining tennis courts.

There was no lack of variety in the bowling, with Watson, M. J. Smithyman (Michaelhouse), A. G. Van Wyk (St. Andrew's Coll.), and K. I. Deutchmann (Dale Coll.) providing the pace and G. N. Ridley (Milton School), R. E. T. Morris (Rondebosch Boys H.S.), M. B. Heath (Durban H.S.) and H. M. Ackerman (Dale Coll.) the spin. Ridley, who had proved most successful as slow left-hander with the Rhodesian Fawns in England the previous summer, was seen at his best against Winchester (four for 9), Charterhouse (five for 29), Malvern (six for 22) and the Canadian Schools (six for 30). Morris (who was only 16) was most impressive with his off spinners. Aginst Notts II he took five for 23 and four for 60 and against

Charterhouse five for 21.

South African Schools in England

The side brought three good wicket keepers, B. V. T. Surtees (St. Andrew's Grahamstown), T. D. Cullinan (St. Andrew's Coll.), and Richards, while the fielding, particularly the throwing-in, was of a very high standard. A marked weakness, and a costly one at times, was the running between the wickets. Finally the boys were fortunate in being under an able administrator and organiser as Mr. L. C. W. Theobald, Cricket Master at Durban High School. They also profited from the shrewd counsels of D. J. McGlew who assisted in the tour Management.

## SOUTH AFRICAN NUFFIELD SCHOOLS AVERAGES

#### BATTING

		Not		Highest	
	Inns.	out	Runs	score	Average
G. N. Ridley	7	5	126	40*	63.00
B. A. Richards	18	2	798	106	49.87
M. J. Proctor	15	3	579	148	48.25
N. Rosendorff	14	2	524	117*	43.66
D. Lindsay-Smith	12	5	267	61*	38.14
M. J. Smithyman	11	6	190	92	38.00
M. J. Ackerman	16	3	451	102*	34.69
G. Watson	8	3	111	39*	22.20
A. L. Biggs	15	0	303	68	20.20
B. V. T. Surtees	13	1	220	42	18.33
T. D. Cullinan	8	2	97	59	16.16
M. B. Heath	9	0	84	27	9.33
Also batted					
R. E. T. Morris	4	2	46	30*	23.00
A. G. Van Wyk	2	1	19	14*	19.00
K. I. Deutschmann	2	1	1	1*	1.00
* Not out.					

#### BOWLING

	Overs	Maidens	Runs	Wickets	Average
G. N. Ridley	237.1	74	540	46	11.73
M. B. Heath	65	16	235	18	13.05
K. I. Deutschmann	91	31	203	15	13.53
R. E. T. Morris	149.5	29	394	25	15.76
M. J. Proctor	48	14	116	7	16.57
M. J. Smithyman	112.5	29	309	18	17.16
G. Watson	146.1	33	442	21	20.14
B. A. Richards	42.3	8	104	5	20.80
A. G. Van Wyk	98	24	268	12	22.33
H. M. Ackerman	30	3	122	4	30.50
N. Rosendorff	9	1	36	1	36.00

## WINCHESTER COLLEGE v. SOUTH AFRICAN SCHOOLS

At Winchester, July 4. South Africans won by an innings and 33 runs. This, the last fixture against schools, was certainly the most successful. Sent in to bat, Winchester collapsed against some hostile bowling by Watson followed by accurate spin bowling from Ridley and Heath and the whole side were out for 36—Winchester's lowest score for over fifty years. Ackerman and Smithyman, normally five and six in the South Africans' side, opened on this occasion, and batted with such confidence that they made 196 in two and a quarter hours before Smithyman was bowled. Four runs later, when Ackerman reached his hundred, which included one 6 and thirteen 4's, the South Africans declared. Starting their second innings 164 runs behind, Winchester lost their first six wickets for 51 to the spin bowling of Heath, and though Craig and Maclagan shared a stand of 62 the rest of the side again collapsed against the varied attack of Watson and Heath.

## Winchester College

G. R. C. Kingsbury, b Watson	1 — b Heath	
N. C. D. Craig b Heath	12 — c Surtees b Watson	
S. J. Awdry b Watson	0 — b Heath	9
P. J. R. Scott lbw b Ridley	0 — b Heath	0
D. G. Pilbrow c Richards b Ridley	0 — b Heath	2
R. J. Stewart-Liberty c Surtees b Ridley	7 — c Rosendorff b Heath	1
M. W. D. Maclagan b Heath	0 — b Watson	33
F. W. Hibbert c Lindsay-Smith b Heath	4 — not out	1
M. H. Jay not out	0 — st Surtees b Heath	
N. D. Sinker c Van Wyk b Ridley	4 — b Watson	
Extras	6 Extras	
	The transfer of the state of th	
	36	131

Bowling—First Innings: Watson 3 for 8; Ridley 4 for 9, Heath 3 for 10. Second Innings: Heath 6 for 59, Watson 4 for 33.

## South African Schools

M. J. Smithyman b Sinker 92	
H. M. Ackerman not out102	2
B. V. T. Surtees not out	0
Extras	6

(1 wkt. dec.) 200

B. A. Richards, M. J. Proctor, D. R. Lindsay-Smith, N. Rosendorff, M. B. Heath, A. G. Van Wyk, G. N. Ridley and G. Watson did not bat.

Bowling-N. D. Sinker 1 for 59.

